SET——“X” (Total No. of printed pages : 35)
(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU ARE ASKED TO DO SO)

UG-EE-June, 2025 (Economics 4 Year)

' Sr. No. 10149
Code A

Time : 1% Hours Total Questions : 100 Max. Marks : 100
Roll No. (in figure) (in words)
Name : Date of Birth :

Father’s Name : Mother’s Name :

Date of Examination :

(Signature of the candidate) (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/

INSTRUCTIONS BEFORE STARTING THE QUESTION PAPER.

1. All questions are compulsory.

2. The candidates must return the Question book-let as well as OMR
answer-sheet to the Invigilator concerned before leaving the Examination Hall,
failing which a case of use of unfair-means / mis-behaviour will be registered
against him / her, in addition to lodging of an FIR with the police. Further the
answer-sheet of such a candidate will not be evaluated.

3. Keeping in view the transparency of the examination system, carbonless OMR
Sheet is provided to the candidate so that a copy of OMR Sheet may be kept by
the candidate.

4. Question Booklet along-with answer key of all the A,B,C and D code shall be got
uploaded on the University Website immediately after the conduct of Entrance
Examination. Candidates may raise valid objection/complaint if any, with regard
to discrepancy in the question booklet/answer key within 24 hours of uploading

“the same on the University website. The complaint be sent by the students to
the Controller of Examinations by hand or through email. Thereafter, no
complaint in any case will considered.

5. The candidate MUST NOT do any rough work or writing in the OMR Answer-
Sheet. Rough work, if any, may be done in the question book-let itself. Answers
MUST N.OT be ticked in the Question book-let.

6. There will be no negative marking. Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
in OMR Answer-Sheet will be treated as incorrect answer.

7. ISJﬁe oglly Black or Blue BALL POINT PEN of good quality in the OMR Answer-

eet.

8. BEFORE ANSWERING THE QUESTIONS, THE CAND
ENSURE THAT THEY HAVE BEEN SUPPLIED CORREC’II‘R%I’I]‘)EgO?VII{P%IEI}I“E
BOOK-LET. COMPLAINTS, IF ANY, REGARDING MISPRINTING ETC. WILL
NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE
EXAMINATION.




SET-X
Code-A

Questions '

Which of the following:is a.source of secondary data ?

(1) Direct interview (2) Questionnaire

3) Censué report (Y] Obse_i'vation
e & & o e orist @ Hiq & ?

(1) 59 TR (2) SETE

@) ST RAE (4) e

Which of the following is a method of pri‘inéry data collection ?

(1) Government publications (2) Census’

(3) Questionnaire (C:)) Jogrnals

it & &A@ el siwst B whe FR B R ok
(1) @ yEE (2) ST

| @ (4) P

Sampling refers to : »
(1) Collecting data from the whole population
(2) Selecting a portion of the population

3) Interviewingallpeopl_e

(4) None of the above

AT (gmeneeT) B anf R

(D) g SFEE § HiwS @ BN

(2) ST & T A F T G

@) T T F AEHR A

@) INH { q :E T

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
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4. | Avariable that can be measured numerically is called :
(1) Qualitative variable @) Discrete variable
(3) Quantitative variable 4) Nomi_nal variable
aaawa‘rﬁmm%.wmw%,m%z '
1) TS @) RRre () T

| @ e = (4) THEE T

5. | Frequency distribution shows :

(1) Relationship between two variables
(2) Tabular representatidn of data

(3) Number of occurrences of each value
(4) Alist of formulas -

gy Reer g9t & ¢

(1) ¥ & &9 G

(2) oTiFel H GCEE T

@) W% 7 3 aRe B A Fe

@ A

‘6. | Which source provides detailed demographic mformatlon 2
(1) NSSO (2) RBI Bu]letm ‘

(3) Census | (4) Newspapers |
mﬁammmmmmmm% ?

(1) TACaTEst . (2) ARRE Fare
(3) STTTOTT (4). TER o

UG-EE-2025 (Bachelor of Arts (Economlcs)- 4 Year-Code-A
(2)
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(1) Age group
(3) Total data

(1) omg T
3) [ niwe

7. | In frequency distribution, class interval means :

(2) Range of data values
4) leed number

Fafy e &, oot sjow @ ol 2

(2) AEST B IFE A A
(4) iEa gen

data ?
(1) Bardiagram
(3) Histogram

(1) SR IRE
(3) SmMGRE

Which diagram is best for showing frequency dlstnbutlon of contmuous

(2) Linegraph
(4) Piechart

mm%mmzﬁrﬁaﬁ%mmmmmm%?

(2) @ IRy
(@) W Eh ()

9. |Inapie diagram, the total angle at the center is :

(1) 90° (2) 180°
(3 270° (4) 360°
T ARh (F-Re) § W e A A
(1) 90° | (2) 180°
(3) 270° (4) 360°

UG-EE-2025 (Bachelor of Arts (Econonucs)— 4 Year-Code-A
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e ] jes data ?
10. | Which of the following is used to present time geries d

(1) Piechart "~ (2) Linegraph

(3) Barchart (4) Histogram
Wmmﬁmm%mﬁﬁmﬂﬁﬁwmmw%?
1) wE areh (dan-f) 2) @ Ig |

() R 9 (dEr-fE) (4) - SR

11. [ The arithmetic mean of a data set is the :

(1) Most frequently occurring value

(2) Middle value |

(8) Sum of values divided by number of values
(4) Largest value , | '
(1) 99 afUs aR N amn 9e

(2) 7= 9H | |

@) T T % Fen A RRE A S @

(4) T T A

12. | Mode ié defined as : | _
(1) Sum of all values ' (2) Value with maximum frequency

(3) Middle value (4) Value with minimum frequency
mitgen & afeeniye fear omen & ¢ -

1) SIS T (2) 99 9F ) O a9 79 2 w7 F
@ W= (@) R T AR o @ S A

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Codé.-A
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13. | The value of correlation coefﬁcierit lies between :

| (1) —2and2 (2) -land+1

} 3 Oandl ‘(4) 1and 100
HeHsY % H W 59 @ S g S 2 ?

(1) —23k2 . 2) -13+1

3) odr1 (4) 13R100

14. | A scatter diagram shows :

(1) Frequency

(2) Central tendency

3) Difection and strength of correlation

(4) Median -

frete amte S @ - .

1) emfw : (2) =N R
(3) Uewdw H Ram ofR A (4) wiftgaw

15. | Karl Pearson's method of correlation is suitable for :
(1) Qualitative data -

(2) Grouped data only

(3) Ungrouped quantitative data

(4) Textualdata

Fo AT A gedsy Rl g t:

1) T i B R

(2) %99 T Mwst B R :

@) R T T A Aiwe F R

4) T st F fog

UG~EE-2625 (Bachelor of Arts (Economiés)- 4 Year-Code-A
(5)
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'16. | Anindex numberis:

(1) A percentage )
(2) . A number representing change in a variable over time
(8) Amean
(4) A type of graph |
T YEHE WAl Bl ¢
(1) G uiowd o
) w%‘mmﬁaﬁqﬂaﬂwﬁmﬁaﬁﬁm _
@) w s | g
@ SwRwaa

17

The Consumer Price Index (CPI) measures: .
(1) Price paid by producers (2) _Plfice of ekports . ,
(3) Price paid by consumers (4) Price paid by wholesalers

SuE I gEE () o @

(1) o T A E I (@) Pl B A

(3) SRS N & W P (4) 9% febael a § E S

18.

Which index is commonly used to measure inflation Ain India ?'

(1) CPI . (2 TP

(3) GDP | . (4) Balance of trade

Ad # I B AW B R AR B9 W Qe s e s 7
(1) ddtem (2) o

@) e (4) N g

UG-EE-2026 (Bachelor of Arts (Economics)- 4 Year-Code-A
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19. | What is meant by inflation ?
(1) Decrease in prices (2) Increase in the value of money

(3) Rise in general price level (4) Increase in production
T H R o ® 7

(1) A 7 Prme (@ T9 & g3 ¥ gfx

(3) W g WX # gfs (4) IaEA ¥ afs

-20. | If two variables move in opposite directions, the correlation is :

(1) Zero s * 2 (2) Positive
(38) Negative \ (4) Undefined
R q R Rl Rl 7 awd ¥, & wewdy A @
1) T | (2) TS
(3) THRID . (4) ST

21. | Law of diminishing marginal utility states that :

(1) Tdta.l utility increases with consumption

(2) Marginal utility increases with each unit

3) Margmal utility decreases as more units are consumed
(4) Utility becomes zero for all goods |

A Iudfrar § e @ Fraw wea B i

(1) A Y@ Ied & 9y qgdl @

(2) 9% @t & 6 dEr Ui g 8

(@) ofuF gl & i & an dw Sydfer ged §

4) @d aged @ fag swdfm g 8 ord §

UG-EE-2026 (Bachelor of Arts (E((:%nondcs)- 4 Year-Code-A'
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22.

Consumer's equilibrium ie a'c':hieved when:
(1) Marginal utility equals price

(2 Total utility is minimum

(3) Budget is exceeded

(4) Marginal cost exceeds benefit

ITiRT Hge a9 wa dar & I

(1) € ISP Fa F FEC ]

@) A I FAad @

(3) Fore dmr | afF @

@) W ar @W 8 A 8

23.

A budget line represents :

(1) All combinations that cost less than income

(2) All combinations costing more than income

3) All' combinations that exactly exhaust income

4) Nohe qf ‘the above
q9e Y@ S @

Q) a4 AT o oW A T &d I ¢

@ i FA A o A o wd FR
@) W W@ A g o e ¥
(4) T A

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year CodeA
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24. | An indifference curve shows :

(1) Cost of production

(2) Equal satisfaction frqm different combinations of goods
| 3) ‘Maximum income

1 (4) Decreasing utility

SR &% Tt @ -

(1) IO e

(2) Tt 3 R Hdt @ e e

* @) e o

(4) "edl I

25. | Consumer's equlhbnum using indifference curve is attamed where :

{ (1) Budget line is above the curve

(2) Budget line is below the curve

(3) Budget line is tangent to t_he indifference curve
(4) Budget line cuts the indifference curve
mmmmmmmwmmmmﬁm

(1) T @ 3% 3 FR Q

2) T W w3 92 "

(3) T @1 T 9% B Wt F @

(4) T @1 9% F Fed @

UG-EE-20256 (Bachelor of Arts (Ecc;nomics)- 4 Year-Code-A
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(1) Demand by onej,ndividual

(2) Demand for services only

3) Aggreéate demand of all consumers
(4) Demand by producers

IR il &

Code-A
. — mi
Question Questions
No. ]
26. | Market demand is the :.

217.

Price elasticity of demand measures :
(1) Changein supply
@) Responsivenéss of demand to price changes

(3) Totalincome

‘| (4) Production cost

i % Fd oig A9 8
1) 9 F R
(2) Fa IRa & Ui 111‘T 1| nﬁm
(3) T A
(4) SERT WM
98. | If demand changes more than price, the ciemand 18 :
(1) Inelastic ‘ (2) Elastic
(3) Unit elastic (4) Perfectly inelastic
oA R A A RE L AT ARy
(1) SRR (2) WER _
(@) TE AW (4) Tio: eheER

UG-EE-2026 (Bachelor of Arts (Economics)- 4 Year-Code-A
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(1) Variable @ Fixed
(3) Constant - 4) Zero
ATE 4, F9 § & F o o B

(1) Radha @ Ruy

@) o= 4) g3

| Code-A
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29. | Arightward shift in the demand curve indicates :
(1) Increase in demand (2) Decrease in demand
(3) Nochange (4) Increase in price
A 3% | Il Readm vt &
(1) = F gfs (@ uimd R
@ FRET W @) B A g

30. | Which of the following is a determinant of den;;;)‘d ¥
(1) Production cost (2) Consumer's ill;_é:ome
(3) Supply , 4 GDP ‘
Pred 4 & .4 70T 31 Fraics & 7
(1) SERT dFE (2) ST B A
@) i (@ e

31. In the short run, at least one input is :

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A

(11)
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32. | Marginal Product (MP) is:
(1) Total product divided by input

(2) Change in total product due to one more unit of input

(8) Total cost

(4) Average product'

g IR (rd) @ ¢

(1) %N 3@ # W & fawf F
@@mﬂmmmﬁwWh

(3) F @M
(4) oEa IR

33. | Returns tb a factor occurs when :

(1) One input is varied, otheré kept constant
2) Al inp_ui:,s are fixed

(3) Allinputs are varied

(4) Output is fixed

% G 1 R a9 oA S & o :

(1) TF G P aee 9, o ReX W@

(2) @i @ Rt @ |

(3) @ @A 95w iy W

@) < Rava -

UG-EE-2025 (Bachelor of Arts (E(conomics)- 4 Year-dode-A
12) ‘



SET-X

Code-A
IQ“;IS:?O“ Questions
34. | Total Cost (TC) equals :
(1) TR-MR (2) AVC x Quantity
8) AFC-AVC (4) TFC+TVC
& A (S) R SR @ - |
(1) TR-MR (2) AVC x 71
3) AFC-AVC (4) TFC+TVC
35. | Which of the following is correct for revenue ?
(1) MR =AR X Quantity (2) MR=TR-TC
3) AR=TR+ Quantity (4) TR=ARXx Quantity
T & U PH-a1 Fa9 a8 ® ? ‘
(1) MR=AR x 9= (2) MR=TR-TC
@) AR=TR+¥ET (4) TR=ARXHAT .
36. | A supply curve generally slopes :
' (1) Downward - (2) Horizontally
(3) Vertically | 4) Upward
o @ F qEE: G A |
(1) & AR . (2 afw
(3) TR (4) ST H AR
37. | When output is zero, total cost equals : -
(1) Zero (2) Total fixed cost
(3) Total variable cost 4 'Marginal cost
99 IEA I &), 9 g9 Ara g @
o gH (2) W Ru @rm
3) Fa WRadHE @rm (4) W AP

UG-EE-20256 (Bachelor of Arts (Economics)- 4 Year-Code-A
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38. | Which cost curve is U-shaped ? ]
(1) Average fixed cost (2) Total fixed cost
(3)- Marginal cost | 4) All cost curves
M= § Q #9910 v 7% U-oIaR a1 8 & 7
(1) diFa Rex @rm @) Fa R @
(3) dmr ar (@) & TR TF
39. | When MC < AC, the average cost is :
(1) Increasing (2) Constant
(8) Decreasing (4) Zero
% MC <AC®, & oheg arm 8t 8 :
(1) T @ ad R (2) Rex 2kl &
3) e & ekt B @ g
40. | Average Fixed Cost (AFC) always :
[ (1) ‘Increases withoutput  (2) Remains constant
(3) Decreases with output (4 Becomes zero =
e Re¥ ar (T o o) glar -
(1) ST & q Tedl & ©@ Rxwhd
(3) SWET & WY Heddl & @ & arh 2
41. | In perfect competition, products are :
(1) Differentiai;ed (2) Identical
(3) Branded (4) Seasonal -
ot gferdifrar § S @ §
(1) Fdfa @ @
@) 7i%e 4) Hreht
|

UG-EE—2025 (Bachelor of Arts (Economics)- 4 Year-Code-A

(14)



SET-X

Code-A
Q“ﬁscf"“ Questions
42. | Under perfect competition, the firm is g :
(1) Price maker (2) Wage fixer
(3) Price taker (4) Government agent
T SR ¥ wf e D
(1) T Fukes (2) wgh FaRes
@) v Wi | (4) W Gie
43. | Inthe short run, a perfectly competitive firm can earn :
(1) Only normal profit (2) Loss, normal or supernormal profit
(3) Lossonly | 4) Supernormal profit only
ST H, T uRkiifar arlt o T TEA §
(1) @ qAF 2) N, e a1 S A
(3) Faw @ (49) 39 M A

44. | A price ceiling is usually set :

(1) Below equilibrium price

(2) Above equi.ﬁbrium priée

(3) Atequilibrium price

(4) With no market effect

P S T A T R o
(1) Hged g /@ AR

(2) G B A SR

(8) T FMd |

(4) fom et aeR gw @

G-EE-2025 (Bachelor of Arts (Eco)nomlcs) 4 Year-Code-A
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45. | A price floor is :
(1) -Maximum price (2) Minimum legal price
(3) Equilibrium price (4) Temporary subsidy
(1) st Find (2) =g A9 B
(3) WA Hma | (@) Feard afad
46. | An example of a price floor is :
(1) Rent control "~ (2) Support price for crops
(8) Discount sale .(4) Auction pricing
B AT T ST § s
(1) R fer (2) wEdl % foT qRds o
(3) g @l (4) Hemit P
47. | Which market form ensﬁres the most efficient resource aﬂbcaﬁon ?
(1) Monopoly (2) Oligopoly
(3) Monopolistic competition (4) Perfect compeititon
F-91 X E@ET GEEl F G I e ghied sar 8 ?
(1) THREER (@) iR e
(3) TEREERE SRR (4) o SR
48. | In perfect competition, marginél revenue is e’qﬁal to:
(1) Total cost - (2) Average cost
(3) Marginal cost | (4) Price
oof R # e oY SUET A 8
(1) Fa @rm (2) haa are
(3) @ @ 4) ~ u

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
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49. | Price mechanism refers to :

(1) Government fixing prices

(2) Prices set by sellers

(3) Determination of price by demand and supply
(4) Black market operations

PN T N ad P

(1) ¥R g} Fa faka

(2) Febemelt a0 v @ F

@) = AR 9’ @ A P

@) F e

50. | Which of the following applies only in a competitive market ?

(1) Price discrimination (2) Homogeneous products
(3) Single seller 4 Govérnment monopoly
Pt & & Ai-a1 daa afrealers 9o & arg & ?

(1) @va fadg (2) T9EY IR

3) wwE R @ T e

51. | Net Domestic Product '(NDP) is equal to :
(1) GDP + Net Indirect Tax (2) GDP - Depreciation

(3) GNP -Subsidies (4) GDP + Depreciation
(1) &+ & amm &x (2) Hed — e
(8) gTH — wfead (4) W + g

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
(17)
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52. | NNP at Factor Cost is also called :
(1) National Income @) Domestic Income
3) Pérsonal Income (4) Private Income
A A W LG @ iR e o 8
(1) T ™ . (2 g 9™
(3) RIS . (4) feit o
53. | GDP at market price includes :
(1) Factor cost only " (2) Subsidies only
(3) Indirect taxes — subsidies, (4) Net factor income from abroad
O I W A F i & R
(1) 3 G A (2) @ aREd
() I F-AE (@) PR @ g8 T I
54. | Real GDPis: |

(1) GDP at current prices

(2) GDP at constant prices
(3) GDP-tax | |
(4) GDP +inflation |

qrfas SHEdt 8k @

(1) =g el oS

@) fer Findl | S

(3) i —

(4) G + g wifd

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
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55. | If nominal GDP increases and real GDP remains the same, then :

(1) Output has increased (2) Prices have increased

(4]
f

(8) Taxes have decreased . (4) Exports increased
IR il L Fed & oK awafes M T T 8,

| sy () I ARE

@) WHE . @ FEEE e
56. | Disposable income = Pérsonal income ? |

(1) Corporate tax = ' (2) Income tax

@3) Deprec_‘:iationj , (4) In-_dir.ect tax

YAV Y = AR AE — 7 o

(1) FE & (@) R

©® T . @ s
57. High GDP growth but low welfare implies :

(1) Equitable distribution (2) Income inequality

(3) Highemployment (4) Low inflation
=1 eI gfs AR T FE A o B

(1) T (RmEfEa) R 2) ™ amqmr
(3) T WIR (4) T e

UG-EE-20_25 (Bachelor of Arts (E-cq,nomics)- 4 Year-Code-A

(19)




S ET'-X

(1) SARE & A o
2 a7 fadt 9

(3) RRw ¥ AR TR
(4) YarE A
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Quﬁsotxon Questions ‘ .
| : Ifare :
58. | When GDP increases but pollution worsens we
(1) Improves 2 Wérsens tichable
(3) Remains the same (4) Becomes unpre e
o e aadt & ARk gEw dgar g, A FA
1) goar ® (2) el &
(3) W T & (4) wffea & S 8
59. | Which is the better indicator of economic growth ?
' (1) Nominal GDP | (2) Real GDP
(3) GNP at market price (4) NNP at factor cost
il e & SeaX Gaas A 8 7
(1) e SR L (2) dwafes SiET
(3) TR F W AT (4) WET AP ) CAEd
60. | Which of the following is a part of domestic territory ?
1) Indiarz embassy in the USA |
(2) Foreign Bank in India
(3) Indian citizens abroad
(40 NRIs .
frefoied & @ iF-01 g 8 FATR 7

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
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61. | Which of the following is not a function of money ?

(1) Store of value (2) Medium of exchange

(3) Unit of measurement (4) Consumption of goods
Ffoied § & A9 g0 & ol a@ R ?

1) T H HRT @) R & amem
@) T H g (4) TR F I

62. | Which of the following is included in the money supply ?
(1) GoldheldbyRBI -

(2) Currency held by the public and demand deposits

(3) Government bonds

(4) Fixed depoé.its

Pt 8/ - g o 7 e @ 2

(1) SIefiens gRT <@ w e

@) o & @ gE AR i o

(3) W s

(4) wwRy o

63. | What is the main source of money creation by commercial banks ?

(1) Accepting deposits (2) Issuingcurrency
(3) Lending to borrowers 4) Purchasiﬁg assets
TRaE &H EaRT E Go w ge e g ?

(1) 91 @R FHE (2) T SR FE

(3) S & (4) Wil f alg

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
' (1)
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64.

A higher CRR leads to:

(1) Increased money creation (2) Decrease
4 Increased profits

d lending ability

(3) Increased inflation

I HSTEIR § B 8 _ | :
(1) e 3 o (@) Fur ¥ @ A F

(3) T T JEEHIa 4) s A

65.

Cash Reserve Ratio (CRR) is the :
(1) Percentage of net demand deposits banks keep W

(2) Interest rate charged by banks
(3) Loan repayment ratio .
(4) Minimum balance for savings accounts

T TR T (oTROR) B & ¢ :
(1) %maﬁg@qﬁmmnﬁmﬁmﬁ%wmm%

(@ & g fear T AN

3) FO1 T T TG
(4) T @ @ R g 9 T

ith RBI

66.

| The Bank Rate is the rate at which :

(1) RBIlends to Government

(2) Bankslend to RBI
(3) Public borrows from banks
(4) RBllends to commercial banks.

%% o 98 aC o o9 W ¢

1) SIS TR A H A 8

@ &% ardiend # #T3 ¢

(3) e et @ U A @

(@) arcdond afeRes 4 @ o S

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
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Repo Rate is the rate at which :

(1) RBI accepts deposits from public
(2) Banks borrow from RBI

(3) Public borrows from banks

(4d) Government sells shares
WX PE®:

(1) IARETE FFar @ 5 ©E HE &
(2) % dions A WR AX &

(3) T S @ IUR A @

(@) THT I J=dl 8

An increase in SLR resultsin :

68.
(1) Higher credit creation (2) Reduced funds for lending
(3) Lower interest ratés (4) Moreinflation
e A gfe @ a b
(1) St w1 gor -(2) F31  RT F w3
(3) T &W X 4) s wdmg (i)
69. | Who is the Governor of RBI ?
(1) Shaktikanta Das (2) Raghuram Rajan
(3) Unjit Patel (4) Sanjay Malhotra
s & T A 8 7
(1) ofeqaa | (2) W W
(3) =g wed (4) dy W
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70. | Margin requirement is used to control :
(1) Inflation (2) Credit for gpecific purposes

(8) Publicsavings (4) RBI profit
QT A F ST R Pt & & dar & 7
(1) wETE (A (2) Frig R & T R
(3) wHH e (4) TETE BT A
71. | The Union Budget in India is presented by :
(1) President (2) Prime Minister
(3) Finance Minister (4) RBI Governor
ARG § T TE P TG FA & 7
(1) i . (2) s
3) R ==t (4) SR TR

72. | What are the two main parts ofa government bﬁdget ?
(1) Direct and Indirect taxes L
(2) Domestic and Foreign loans

(3) Receipts and Expenditures

(4) Revenue and Capital account

@A T & § g v 71 § ?

(1) I S ey &<

(2) wig SR e =

(3) miftedl X =9

(4) TwE A gl o

UG-EE-2025 (Bachelor of Arts (E(conomics)- 4 Year-Code-A
24)



SET-X
Code-A

;sfon Questions

73. | Which of the following is a non-developmental objective of va budget ?

(1) National defence (2) Health
(3) Education . (4 Agriculture
= 3§ a9 a9 1 R R ) § 7
(1) @ @
3) famw ‘~ @) N
74. | The union budget is prepared by:
(1) Parliament ' (2) NITI Aayog
(3) Ministry of Finanace ~ (4) RBI
FRG IO PN TR FAT 87 T
) ¥ @ SR s
@ Rad@m@ (@) acdem
75. | Which of the following is a revenue receipt?
(1) Borrowing from public (2) Recovery of loans '
(3) Tax receipts (4) Sale of shares
F=1 & @ f9-8@ e af %? -
(1) ST @ T QM (2) =T B TG
@ wukdt (@ ¥ AR

76. | A deficit budget means:

(1) Receipts = Expenditure (2) Revenue = Capital

(3) Expenditure > Receipts (4) Expenditure < Receipts
UTe F g9e 7qed °

(1) ufedil = a9 (2 W = T

(3) = > wifr (4) =@ < ik

' UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
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71.

Fiscal deficit refers to:

(1) Total Revenue — Total Expenditure

(2) Total Expenditure — Total Receipt (excluding borrowings)

3) Revenue deficit + Capital Deficit |

(4) Trade Deficit |

TSI Trer g &:

(1) W W - W = _

@ T F - g AR ()

(3) TR HIET + Toft W |

@ = o W T e

78.

Revenue deficit occurs when:

| 1) Revenue receipts < Revenue expenditure

f2) Capital expenditure > Capital receipts
(3 Revenue receipts > Revenue e@enﬁtﬁe
(4) Revenue receipts = Capital receil;ts
o1 91T @9 8l & o

(1) T ol < W 39

@ Tt = > $ofr st

(@) e Al > T 3

(4) o sifed < ot i

UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
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79.

Primary deficit is:

(1) Fiscal deficit — interest payments

(2) Revenue deficit — fiscal deficit

(3) Revenue expenditure — capital receipts
(4) Interest payments — capital deficit
mafE G g &

(1) TN T - S

(2) T e - o e

@) W =@ - Gt mikwr

@) = g - Gl e

Which budget type is used during inflation to control price rise?

80.
(1) Balanced budget (2) Deficit budget -
3) éurplus budget | (4) Capital budget
W(W)%mmq@ﬂmmm%maﬁmmmm%?
(1) dgfera sore (2) W F T
(3) ANy Fore | 4) i e

81. | Who is the Finance Minister 6f India:
(1) Manmohan Singh 2 P.Chidambaram
(3) DharmendraPradhan  (4) Nirmala Sitharaman
g & aRd & o q=f a9 8
(1) wEE Rig 2 9. e
(3) @iz guH (4) Pl darer

- UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
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(1) Financial bill

(2) Economic estimate

3 Mud financial statement
(4) Fiscal plan |
W T A T F T ST 7
(1) o Raas |

@ sl s

) it fata R

(4) ToNE Qe
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82. | A government budget is also known as:

83.

The redistribution fuxiction of a budget aims to:
(1) Increase inequality = .

(2) Promote only private_weaith

(3) Reduce income inequality

(4) Increase government employeeé' income only
e & G Fd R SR B

() o

@ @aw Pl @Ry @ e 3

(3) ST STHHMAT B FH FAT

(4) @ THA FHARG B A T

UG-EE-2026 (Bachelor of Arts (Economics)-
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84.

Which of the following is not an objective of a government budget"
(1) Resource allocatjon (2) Income redistribution

(3) Price stability . (4) Increasing public debt

& @ P THR o1 1 IRY e &7

O SEaEE  (2) om W R

@) ¥ Rwar (4) P F

85.

The main objective of a government budget is:

| (1) Topromote inequality

(2) To create inflation

(3) To achieve economic stablhty and growth
(4) To reduce exports

TER T H & IRA T 87

(1) ST @ &g &

@ W (TEHR) S F

3) onf¥fF Rexar oiR HaRs ora kasy

@) Ffa =7 s

86.

Life expectancy in Ind1a at the time of independence was apprommately
1) 32 Years ‘ "~ (2) 65Years

(8) 50Years (@) 70Years

WiAd & T Rd § ol ofie gemm

(1) 32q¢ (2 657

3 50 | (4) 707

UG—EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
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87. | India adopted the planning model from which country?
(1) USA ~ (2) USSR
(3 China . @ UK
ARa X Ao Atew e 3w & SrqeET?
(1) AR @ W
@) = o 4) fe
88. | Which sector was the focus of the First Five Year Plan?
(1) Industry . - (2) Trade
@) Agriculture (4) Services
e i A & R A T e 3B B T A
(1) & @ =W
@ | . @am
89. | The Planning Commiséion was replaced in 2015 by:
(1) RBI " (2). Finance Commission |
(3) NITI Aayog (49 National Board of Finance

‘UG-EE-2025 (Bachelor of Arts (Economics)- 4 Year-Code-A
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90. | A key feature of the Green Revolutlon was the use of:
(1) Manuallabour

(2) Traditional seeds

(B) High-Yielding Variety seeds

(4) Organicfarming

gRa Fif A 0F Tor Rfiwar o

(1) = T4

(2) TKARS d=

(3) = IAEHA ad &

(4) Sifaw ot

At

91. | SSI stands for: | |

(1) Social Sector Institution

(2) Small Scale Industry

3) State. Sector Investment

(4) Sustainable Sector Initiative
SSI & a1 &

(1) @i & §RM

(@) @ I

(3) T &= faw

(4) uad &5 qed

92. | Economic reforms in India were introduced in:

(1) 1980 (2) 1991
(3) 2000 (4) 1975
e 7 e Far F9-I6 §

(1) 1980 (2) 1991
3) 2000 | (4) 1975

TUG-EE-2025 (Bachelor of Arts (Eg;;wmics)- 4 Year-Code-A
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93. | Globalisation aims to integrate:

(1) Domestic economy with global economy
(2) Rural with urban economy

(3) Agriculture with industry |

(4) Public sector with private sector
AwIET 3?@'@ &

(1) oYY referaen 3 &Ras amen & AT
(2) PR IR wedt erfeEwn S e

() T &R @ i g

@) ueR SR Pl 8 @) e

94. | Which organisation played a role in India's economic reforms in 1991?
() WHO | @ IMF
(3) SAARC (4) UNESCO |
1991 & W & s Gurd & R wed 3 v
1) sgE=s (2 T
3) wm @ e
95. | One goal of demonetisation is:

(1) Increase black money

(2) Reduce tax compliance

() Curb black money and counterfeit currency
(4) Increase inflation '

et &1 0@ SR &

(1) &l g9 Ml

(2) FT AT B FE

(3) W &7 3 THA GET W G

(4) HEmE Fgr |

UG-EE-2026 (Bachelor of Arts (Economics)- 4 Year-Code-A.
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(1) Planning Commission (2) NITI Aayog

(3) GST Council (4) RBI -
SHead a1 G A w8

@ e e @ i swm
(3) fiwad IR () S |

i Code-A
No. Questions
96. | Goods and Services Tax (GST) was implemented in:
(1) 2015 @) 2016
@) 2017 4) 2018
T @ A W (shewd) = g
() 2015% @ 20161
(3) 2017% (4) 2018%
97. | GSTis a type of:
(1) Direct tax | @) Excise duty
3) Indirecttax - ' (4) Property tax
T O T &
(1) waw w @ W T
(3) mUw I - @ W
98. | GST is governed by:

(33)
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99,

The main reason behind the 1991 reforms was:

(1) High inflation

(2) Fiscal surplus

(3) Balance of payment crisis
(4) Increase in FDI

1991 & GuRY & FR o :
(1) S= wEmg

(2) PN Ry

@) TEM Fgea doe

@ s R PR (oo, 3 gfe

100.

The Indian economy at independence was:

(1) Self-sufficient

(2) Developed

(3) Stagnantand backward
(4) Export-oriented

WAl % 999 R deae df:
(1) R

(2) Faima

(3) Rer ol Redt g

4) Fafdge
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The Union Budget in India is presented by :

(1) President (2) Prime Minister
(38) Finance Minister (4) RBI Governor
ARG & I T P HGT B & 7

(1) TR | @) v
(@) e’ TR

What are the two main,parts of a government budget ?
(1) Direct and Indirect taxes

(2) Domestic and Eofeign loans:

(3). Receipts-and -Equpditufes

| (4) Revenue and Capital account

W a9 & & g A A § ?
(1) 5% 3 oy &Y
2 = A fRsh =
(3) wifkwr iR =4

(4) o AR G dEr

Which of the following is a non-developmental objective of a budget ?
(1) National defence (2) Health

(3) Education (4) Agriculture

e & @ #-a1 a9 H R e 39 ¢ ?

(1) g T (2) @A

@) for ! @ I

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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4. | The union budget is prepared by:
(1) Parliament (2) NITIAayog
(8) Ministry of Finanace (4) RBI
FAY TC BN GAR AT 87
1) W (2) Hfe ST
(3) R W (4) SO

5. | Which of the following is a revenue receipt?

1 (1) Borrowing from public ~ (2) Recovery of loans -

(8) Tax receipts (4) Sale of shares
= &/ P-f o ik @2
(1) w9 @ Fo @ F A T
@) & i @ a3 fe

6. | A deficit budget means: :
(1) Receipts = Expenditure (2) Revenue = Capital
(3) Expenditure > Receipts (4). Expenditure < Receipts
e P g9 7o ¢ ,
(1) witqEr = =g ‘(2)'m={6ﬂ
3) =@ > it (4) T\@ < wfkEr

7. | Fiscal deficit refers to: ;
(1) Total Revenue — Total Expenditure
(2) Total Expendlture Total Receipt (excludmg borrowmgs)
(3) Revenue deficit + Cap1tal Deficit
(4) Trade Deficit
TSI |1 2 2
(1) 3| W - g @y (2) ¥ oW - 3w Wikl (o1 Bigan)
(3) T =T + TSt e (4) AR grer

UG-EE

-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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8. | Revenue deficit occurs when:

| (1) Revenue receipts < Revenue expenditure
(2) Capital expenditure > Capital receipts
(B) Revenue receipts > Revenue expenditure
(4) Revenue receipts = Capital receipts’
T °IeT q9 B & o

(1) o R < T

@) Tt =@ > Gt mivwr

@) Wi ikl > IO @

[ @) oo i < & wier

9. | Primary deficit is:

(1) Fiscal deficit — interest payments:

2 Revenue deﬁcif — fiscal deficit

(3) Revenue expenditure — capital receipts
(4) Interest payments — capital deficit
orafe Grel g 8

(1) @@ e - A

(2) G °TeT - TN e

@) T Y - Tt ik

@) &I FEE - Gt mwer

UG-EE-2025 Bachelor of Arts (Eco_nbmics) 4 Year-Code-B
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10.

Which budget type is used during inflation to control price riqe?
(1) Balanced budget "~ (2) Deficit budget

() Surplus budget "~ (4) Capital budget

T () & o e g o) P 3 & R -1 0 T

Q) wgfee e il (2) W1 & TE

3) Ry Toe () Fm e

——

B R7

11.

Net Domestic Product (NDP) is equal to :

(1) GDP + Net Indirect Tax  (2) GDP- Deprecmtlon
() GNP-Subsidies . (4) GDP + Depreciation
T8 O O () s Ay

(1) Gﬁs‘m’uﬂ-'aamm (2) SN — TeRT

@) ST - wRgd i (4)5@@*1?"3‘“

12,

NNP at Factor Cost is also called:

(1) National Income : (2) Domestic Income
(3) Personal Income (4) Private Income
I T W LG8, 3 o o 2

1) T om (@) WY oM

(3) =ik amg 4) Feht omg

13.

GDP at market price includes :

(1) Factor cost only (2) Subsidies only

(3) Indirect taxes — subsicﬁes (4) Net factor income from abroad
TR B R AR F i A R |

(1) a0 W A (2) Fa@ wfeqd

(3) oY F-wlewdt 4) 9 ¥ 9= T oy

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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14, | Real GDPis:
(1) GDP at current prices  (2) GDP at constant prices
(8) GDP -tax (4) GDP + inflation
qReia® Sierdl i @
(1) =/ S ) S (2) Rer Fvmt o i
() et —ax ; (4) S + qar Wy

15. | If nominal GDP increases and real GDP remains the same, then :

(1) Outputhasincreased  (2) Prices havé increased
(8) Taxes have decreased ~ (4) Exports increased

I Wk AN aedt § o A e w2, A
(1) o v ¥ @ WAy

@) e @) frafa o1 @

| 16.

Disposable income = Personal income ? -

(1) Corporate tax 0) Tisonie tes
() Diprechiiin (4) Indirect tax
A Y = AR A - ?

(1) e d (@ WEE

(3) (@) o R

UG-EE-20256 Bachelor of Arts (Economics) 4 Year-Code-B
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17. | High GDP growth but low welfare implies :
(1) Equitable distribution  (2) Income inequality
(3) High employment (4) Low inflation
I SN afs AR B BT 1 A 8
(1) ™ (i) Rewer  (2) o S
3) = IR (4) FW JArPId
18. | When GDP increases but pollution worsens, welfare :
(1) Improves (2) Worsens
(3 Remains the same (4)" Becomes unpr_edictalgle
me%mww%,ﬁrwz
(1) grare (2) forea @
@) T e ? (4) e & T &
19. | Which is the better indicator of economic growth ?: '
(1) Nominal GDP ~ (2) RealGDP
(38) GNP at market price (4) NNP at factor cost
e g 1 AeR Hhaw 4T 2 ?
(1) A S
(2) R e

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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20. | Which of the following is a part of domestic territory ?

(1) Indian embassy in the USA (2) Foreign Bank in India
(8) Indian citizens abroad (4) NRIs
Feafofed & @ Bi-a1 R 8 F1 a0 § ?

(V) R ¥ TR T (@) A A R 3

(@) Ry ¥ ordfm wlRE = (@) varh s

21.

In the short run, at least one input is o ms by
(1) Variable @ Fixed
3) Constant = @) Zero %
T T, B Y T O A B
(1) R . @ R
@ = .- @ g

22. | Marginal Product (MP)is:

(1) Total product divided by input

(2) Change in total produ'c_t du:e to one more unit of input
(8) Total cost | I

(4) Average product :

g I (Tadt) B B

(1) %o IR H weT | i s

(2) FA IR F T SR T gon e

(3) T W '

(4) ol IR

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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23. | Returns to a factor occurs when :

(1) One input is varied, others kept constant
(2) Allinputs are fixed

(3) Allinputs are varied

(4) Output is fixed

T W 1 SR G R gell & 9 :

(1) T W F @ ST, o Rew @

@ I e e & '

3) it W TEw Ry

(4) SURA Rt el

24. | Total Cost (TC) equals :

(1) TR-MR (2 AVC x Quantity
3) AFC-AVC (4) TFC+TVC

% @ (S s Al B ' -

(1) TR-MR "~ (2) AVC X

3) AFC-AVC (4 TFC+TVC

25. | Which of the following is correct for revenue ?
(1) MR =AR x Quantity (2) MR=TR-TC
(38) AR=TR + Quantity (4) TR=AR X Quantity

T % fow #9-a1 o a8 § 7 ,.
(1) MR =AR x 9&T (2) MR=TR-TC
(3) AR=TR +9m1 (4 TR=ARXumT

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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26. | A supply curve generlally slopes :
(1) Downward =~ ~(2) Horizontally
(3) Vertically 4) Upward
O % W S B g
(1) = P iR @) e
3) iR @ ww# R
27. | When output is zero, total cost equals :
(1) Zero. ~ v . (2) Total fixed cost
(3) Totalvariablecost ~ (4) Marginal cost
9 I &, T G A o §
1) T3 e (2) % Rer P
(3) FT WRawd T (4) o
28. | Which cost curve is U-shaped ?
(1) Average fixed cost (2) Total fixed cost
(3) Marginal cost . (4) All cost curves
Frer & & P9-91 @Fa 3% U-S%R & 8 @ 7
(1) owd fexarm - (2) %@ R amm
(3) M T @) o T T
29. | When MC < AC, the average cost is :
(1) Increasing (2) Constant
(3) Decreasing (4) Zero
7 MC <AC &, & hveq e & & -
) W@ (@ Rxamd
®) w @ o} @ A

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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30. | Average Fixed Cost (AFC) always :
(1) Increaseswithoutput  (2) Remains constant
(3) Decreases with output  (4) Becomes zero
S ReR A (T o o) el - _
(1) IR 3 99 Tad 3 (2) foert el @
(@) R 3 Wy wed 3 (4) g & T E
31. | The arithmetic mean of a data set is the :
(1) Most frequently occurring value
| @ Middlevalue
(3) Sum of values divided by number of values
(4) Largest value
TRl SfiweT W a1 st oiwa & @
(1) W i a] o am 7
@ e | |
(3) %@ aF A wew § Rl WA 3 A
(4) W I AN |
32. | Mode is defined as : | _
' (1) Sum of all values (2) Value with maximum frequency
(3) Middle value (4) Value with minimum frequency
Tiftgr & qfveia R S @
(1) a2 d & d (2) FE9 % X 9M a0 79 3 &9 §
3) Wer AH & &9 § (4) ¥ F AW 9N I AH 3 &9 K

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B

(10)



SET-X

_ Code-B
IQ“;IS;T'W Questions
33. | The value of correlation coefficient lies between :

() —2and2 | 2) -1and+1
3) Oand1l (4) 1and 100
TeGay ToTh H AW e dm d dg A & ?

(1) -2dR2 @) -18R+1
3) 01 (4 18R100

34.

A scatter diagram shows : ]

(1) Frequency

(2) Central tendency

(3) Direction and strength of correlation

(4) Median o

O om0 (@ N
(3) wewsy & Rum ol aeq (4) WEE

35.

Karl Pearson's method of oon_'elation is suitable for :

(1)  Qualitative data

(2) Grouped data onljr v ik

(3) Ungrouped quantitative data
(4) Textual data

(1) T AHE @ R

(2) %aw wfed HwSl § fore

@) P T IR T ot & R
@) wgy et R

UG-EE-2025 Bachelor of Arts (Economics) 4
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36.

An index number is :

(1) A percentage

(2) A number representing change in a variable over time
(3) Amean :

(4) A type of graph

T D He gl 8

(1) & e

(2) w1 % gy Rl o) & oieds @ ui alt qEl

®) T s '

(4) % TR & aRg.

317.

The Consumer Price index (CPI) measures :

(1) Price paid by prodﬁcers (2) Price of exports

(3) Price paid by consumers (4) Price paid by wholesalers -
SR G G (o) A ¥

() et @ & AmE (9) Pl @ am |
(3) Swiwel T A AR () d R & T A

38.

Which index is commonly ﬁsed to measure inflation in India ?

(1) CPI N2 0e. v

3) GDP (4) Balance of trade

A TR A A & R S 9 W g S R o 7
(1) e - 2) e

(3) it (4) AR Hew

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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39. | What is meant by inflation ?
(1) Decrease in prices (2) Increase in the value of money

(3) Risein gene;'al price level (4) Inérease in production
TRTEpI B R Y § 7

(1) @l § free Q@ WITE A IR

(8) W T & A af% (4) S & afx

40. | If two variables move in opposite directions, the correlation is :

(1) Zero - (2) Positive
3 Negativel "~ (4) Undefined
g & o feda Remell # Twq &, & wewey g @ :
|0 = (2) W
(3) TERTTE (4) oraRiya

| 41. | SSI stands for:

(1) Social Sector Institution

(2) Small Scale Industry

(8) State Sector Investment

(4) Sustainable Sector Initiative
SSI & & :

(1) §mfs & §em

(2) wg

3) T & fAag

(4) woa & ged

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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i 42. | Economic reforms in India were introduced in: . \
(1) 1980 2) 1991
(3) 2000 (4) 1975
T # ol g 3 g8 gV
(1) 1980 @) 1991
(3) 2000 (4) 1975
-

43. | Globalisation aims to integrate: .

(1) Domestic eﬁonomy with global economy
(2) Rural with urban economy

(3) Agriculture with industry

(4) Public seétor with private sector
AT B IR ¥

(1) R eferae & fas afaen | Gﬂ?:'flT
@) Frfr R el a:rdaaw g

(3) W I T B A

(4) wdus A et & @ GﬂZ‘FIT

(1) WHO @ IMF

(3) SAARC (4 UNESCO

1991 & 9Ra % o gart & R w1 7 it g
(1) s=gEas @) T

3) T 4 4) TR

44. | Which organisation played a role in India's economic reforms in 19919

.UG~EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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45. | One goal of demonetisation is:

(1) Increase black money

(2) Reduce tax compliance

(3) Curb black money and counterfeit currency
(4) Increase inflation

it &1 & IRw ¥

(1) *em 99 q@AT

(2) F I F F

(3) Ft o SR Tl AT W G A

| @ e

46. | Goods and Services Tax (GST) was implemented in:

(1) 2015 (2) 2016
@ 2017 (4) 2018
7eg O & % (cfod)) F an gor?

(1) 2015% @ 20167
3) '2017# ) 2018%

47. | GST ié a type of:

(1) Direct tax (2) Excise duty
@) Tadivestta .~ | V) Dicoastyta
Sfiuedt wh IR 8

(1) 5 7w @ R g
3) s W) e

UG-EE-2025 Bachelor bf Arts (Economics) 4 Year-Code-B
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(1) Highinflation

(2) Fiscal surplus _
(3) Balance of payment crisis
(49) Increasein FDI-

| 1991 % Gurdt o g BT o :

(1) Gaq'é‘né_
Q) TN ey

(8) WM UG He .
(4) oo fRe e (uw.dhom.) 7 gf

Cod&a
Question, i \
No. Quessor
48. | GSTis governed by:
(1) Planning Commission ~ (2) NITIAayog
() GST Council (4) RBI
SCEE & Far A a7
(1) AT o ' (2) A ST
(3w g (@) ST —
_
49. | The main reason behind the 1991 reforms was:

50.

The Indian economy at independence was:

(1) Self-sufficient (2) Developed -
(3) Stagnantandbackward (4) Export-oriented
WA & W9 A e o

(1) SR

2) fomfa

3) R iR Redt &

4) Mak=E.

(16)
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51. | Which of the following is not a function of money ?

(1) Store of value (2) Medium of exchange
(8) Unit of measurement (4) Consumption of goods
frfofed § & -1 91 a1 o T8 2 ?

Q) TWHAERT - (2) Rfw & e

3) Y T (4) awgel o SuAT

L

52. | Which of the following is included in the money supply ?
(1) Gold held by RBI :

(2) Currency held by the pubhc and demand depomts
3) Government bonds

(4) Fixed deposits

et & @ iF-a1 33 Off & i % ?

(1) SREIETE &R @ & e

(2) QT EWT W gA &R A

(3) W& 48
(4) wEf s
53. | What is the main source of money creation by commercial banks ?
(1) Accepting deposits (2) Issuingcurrency
(3) Lending to borrowers (4) Purchasing assets
e S ERT qA G H ge a € ?
(1) T &R B @ T T F
(8) R W | (4) wufkwt Eﬁ_ gl

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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54. | A higher CRR leads to:
(1) Increased money creation (2) Decreased lending ability

(8) Increased inflation (4) Increased profits
T WAER @ B N

(1) e g gom (@) SR 3 P & A
(3) = & T (4) s

55. | Cash Reserve Ratio (CRR) is the :

(1) Percentage of net demand deposits banks keep Wlth RBI
(2) Interest rate charged by banks

(3) Loan repayment ratio -

(4) Minimum balance for savings accounts

THE ARG oTgu (SAROIR) & @ ¢

(1) & %1 = 5 o &1 JREE S GRS S O T o ¥
(2) P gw form T AW W

(3) FT gT: A SFgUrd

(4) 9 @ @ fr A A9l

56. | The Bank Rate is the rate at which :
| (1) RBI lends to Government

(2) Banks lend to RBI |

(3) Public borrows from banks

(4) RBI lends to commercial banks

FaRRTEMAR:

(1) ARTE T B T A 8
2) ¥F AREIeTE A F A 8

(3) T S & IUR A 8

(4) omefeng afioas S B FOT A @

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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(1) RBI accepts deposits from public
(2) Banks borrow from RB]

(3) Public borrows from banks

(4) Government sellg shares
WHE R AR

(1) oo e & s e v B
(2) % RieTE q R A ¥

(3) T § | SR At d

Code-B
b“ﬁ?‘m] Questiong
57. | Repo Rateis the rate at which :

(4) TER W Fq e

58, |An increase in SLR resultsin:
(1) Higher credit creation 2) Redl_lced funds for lending
(3) Lower interest rates (4) More inflation
(1) ofts =T FE (2)%%%%@1%9%
(®) I @ @) st T ()

59. | Who is the Governor of RBI ?

(1) ShaktikantaDas (2) Raghuram Rajan
(3) Urjit Patel (4) Sanjay Malhotra
ARANE & T B § 7 e
(1) 9ifeRiRid & - (2) g T
(3) offa g (4) o TR

UG-EE-2025 Bachelof of Arts (Economics) 4 Year-Code-B
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(2) Economic estimate -
(3) Annual ﬁnancia'l statement
(4) - Fiscal plan :
@R a9 H AR FT Fel A &7
() Pl Rl
@ afts o

(3) e faxiig feaer

(4) TN d

C°de~a
IQUEStion .""'""'—F \
No. Questions
_ —
80. | Margin requirement is used to control :
(1) Inflation (2) Credit for specific purposes
(3) Publicsavings @) RBI profit
T v o v ol e @ 4 8 8 7
(1) T () () ol Rl 3 foT HT
() wdNE T9q (4) ATEeTS F A
6L | Who is the Finance Minister of India: e
(1) ManmohanSingh = (2) P.Chidambaram
(3) Dharmendra Pradhan @ Nirmala Sitharaman
AN AT & forr A B R '
(1) w7 Riz | @ 9. fes®
(3) oz M ' - (4) ot SR
62. | A government budget is alsoknownas: .. -
(1) Financial bill

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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63.

The redistribution function of a budget aims to:
(1) Increase inequality

(2) Promote only private wealth

(8) Reduce income inequality

(4) Increase government employees' income only

| s # QSR FH e IR R7

(1) oEder oM (2) Faa felt wafr it s 3

| B) oI SN H FH BN (4) Daw THN FHAREG B AT TG

64.

Which of the followmg is not an objective of a government budget‘?
(1) Resource allocation (2) Income redistribution

(8) Pricestability = (4) " Increasing public debt

T § | HH-81 SRR aoe @ IR e 87

(1) WEmE Ees ' (2) @ F AR

(3) @i fRercam (9 wEeRE R e

65.

The main objective of a government budget is:
(1) Topromote inequality."

(2) To create inflation

(3) To achieve economic stability and growth
(4) To reduce exports h '
AU a5 1 &4 I529d a1 &7

(1) STEHFr S FomEr anr

2) W () I F

(3) ot Rerar ofiX Hqﬁ Tl AT

(4) frafd &9

.UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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6. | Life expectancy in India at the time of independence Was approximae,
() 32Years | (2) 65 Years
(3) 50 Years (4) 70 Years
WO B W A X o o g
(1) 32qd @ 65a
) 507§ a 4 70##
67. | India adopted the plannmg model from vﬂﬁch ;:ountfy?
(1) UsA (@ USSR
(3) China i (@ UK
o} Ao e B R
(1) e (2) Wiea &9
® | @ B
68. | Which éector was the focus of the First Five Year Plan?

(1) Industry 9) Trade .

(3) Agriculture (4) Services

T Geasid e A R & W em i R e
(1) & @) W

@) F™ (4) a1

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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69. The Planning Commission was replaced in 2015 by:
(1) RBI (2) Finance Commission
(3) NITI Aayog (4) National Board of Finance
m15ﬁmmammmamw
(1) SReiens : (2 fo o
(3) e s (4) TS f A

70. | A key feature of the Gr.een,Revolution was the use of:
(1) Manuallabour

2 Traditionél seeds

(3) High-Yielding Variety seeds

(4) Organic farming |

et ikl H T o BT o
1) o M
@) RIS S
(3) Ted IR A Ao
4) Sfew et
71. | In perfect competition, products are :
(1) Differentiated (2) Identical
(3) Branded 4) Seasonal
oot s S 8 €
(1) o | @) WM
(3) wigs (4) Arh

" UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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(1) Below equilibrium pﬁce

(2) Above equilibrium price -

(3) Atequilibrium price

(4) With no market effect

< SR S T 7 o
(1) g iTd /@ '
2) W P § R

(@) W I W

@) R R T9R 999 &

Code-g
IQuestion Pl
No. Questions
R
72. | Under perfect competition, the firm i8 & :
(1) Price maker ~ (2) Wage fixer
(3) Price taker (4) Government agent
oot st ¥ o aeh d
(1) I Frefe (@) g Fre
8) @ e (4) T TIC:
73. | In the short run, a perfectly cdmpetitive firm can earn
"1 (1) Only normal profit | (2) Loss, normal or suplernormfil profit
|3 Lossonly - (4) Supernormal profit only -
e, T SR o F EE e
(1) a9 Q= (©) o, QA T A T
@) ¥aah - (4) e ST T
74. | A price ceiling is usually set :

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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0.

75. | A price floor is :

(1) Maximum price (2) Minimum legal price
3) Equilibrium price (4), Temporary subsidy
T T 8t 8 : _
(1) SR (2) aH aY Fe
(3) WG 2% (4) o=t afewEl

76. | An example of a price floor is :
(1) - Rent control - . (2) Support price for crops
(8) Discountsale =~ (4) Auction priqing
PO YA W T
(1) R fEE @) vl d R e g
(3) g el © @ Hed g

" 77. | Which market form ensures the most efficient resource allocation ?
(1) Monopoly : (2) Oligopoly

3) Monopb]istic competition (4) Perfect compeititon

IF-91 AN @& GHEA F T GO oded ghRed Fwar g 7

(1) TR (2) IR

(@) wwhs AR (@) SRR

78. | In perfect competition, marginal revenue is equal to :

(1) Total cost . - (2) Average cost
(8) Marginal cost (4) Price

Tf s & w8 g

(1) A aF ©2) dra are
'(3)| Hr AT - 4) T

'UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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79. | Price mechanism refers to :

(1) Government fixing prices

| @) Prices set by sellers

(8) Determination of price by demand and supply

'(4) Black market operations '

$d T B A #

(1) TR aw e eer (2) e a3

@) i S o arw e e (4) T

80. | Which of the following applies only in a competitive market ?
(1) Price discrimination . (2) Homogeneous products

(3) Single seller siga(d) GoVer_nment‘pmnopoly
R & @ - daw SRR aor X ) & & ?

(1) #vg faeg L (9) TTEY SR

(3) AR foskam (4) T R

81. | Law of diminishing marginal utility stateg that :
[ (1) Total utility increases with consumption
(2) Marginal utility increases with each unit’

(4) Utility becomes zero for all goods

wi Sy & w @ Frm s & R

(1) Fa ST ITAT & T TEe ¢ |

(@) W% g & T A o
(3) ot FRA % TUHNT & UM W SR geedt 8
@) T T 3 R IR 9 B o}

(3) Marginal utility decreases as more units are consumed '

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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82.

Consumer's equilibrium }s achieved when :
(1) Marginal utility equals price

(2) Total utility is minimum

(8) Budget is exceeded |

(4) Marginal cost exceeds benefit |
S He d9 I S & o

(1) S S 3 e A

(2) T S g &

(3) T W & s &

(4) dH A @ AR 8

83,

A budget ﬁne represents :

(1) All combinations that cc;st less than income
2) All combinations costinlg more than income
3) Al combinationsl that exacfly exhaust income
(4) None of the above e

qore @ g @

1) af g R o F G FQ &

(@) wh wam A o § o o 5 ¥

@) @it wa R gl o T HQ &

@ AR

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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84,

An indifference curve shows :

(1) Cost of production

(2) Equal satisfaction from different combinations of goods
(3) Maximum income

(4) Decreasing utility

S 9 T @

(1) SARE AR

@ v $ R G @ T g

@) ST

(4) "= IR L

85.

Consumer's equii.ibrium using indifference curve 'is attained where
(1) Budget ]in-e is above the curve b

(2) Budget line is below the curve :

(3) Budget line is tangent to fhe indifferenc'e curve |

(4) Budget line cuts the indifference. curv;a

AT 9 G SR Wqe a9 0 8 § o

1) et ®3awad

(@) TEIMH DD
(3) W @1 TN 7% B W & @
(4) o€ Y@ T% B Fed A

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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86.

Market demand is the :

(1) Demand by one individual

(2) Demand for services only

(3) Aggregate demand of all consumers

(4) Demand by producers

TR AT Bl ¥

(1) & =i &t A (2) aa Qareil P A
(3) ¥l IUAIST B FA AT (4) IAEH B A

87.

Price elasticity of demand measures :

(1) Change in supply

(2) Responsiveness of demand to price changes
(38) Total income

(4) Production cost

T % H qId A §

O &R

(2) #a aRadq @ ufo = @ shile

(3) 7 o

(4) SAET RN

88.

If demand changes more than price, the demand is :

(1) Inelastic (2) Elastic

(3) Unit elastic (4) Perfectly inelastic
gt g7 § qfads @iva @ ofts R, o wim ekh @

(1) deeRER (2) WEER

(3) R TERK | (4) Tfa: IdERR

UG-EE-20256 Bachelor of Arts (Economics) 4 Year-Code-B
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89. | A rightward shift in the demand curve indicates :

(1) Increasein demﬁnci (2) Decrease in demand

(8) No change (4) Increase in pnce

AT 9% § 2T Rewee gt §

(1) =¥ gfs @ uE R

@ R @) FEF gi&
90. | Which of the following is a determinant of demand ? -

(1) Production cost (2) Consumer's inconie

® Swply @ ap

Freififea % & 2-a1 #im a1 Pk 3 7

| @ s (@) ST # o

® | (O .
91. | Which of the following' is a 'source of secondary drata ?

(1) Direct interview (2) Questionnaire i

(8) Census report (4) Observation

Rt # & 3 fades aiwet a1 G & 2

(1) 999 HRTER (2) sEH

(3) v R (4) iR

UG-EE-2025 Bachelor of Arts (Economics) 4 Yeﬁr—Code-B

(30)




SET-X
Code-B

[Question
No.

Questions

92.

Which of the following is a method of primary data collection ?
(1) Government publications (2) Census

93.

(3) Questionnaire (4) Journals

R & & B8 v st & o a0 9 R R 2
(1) &Ry (2) SFTOFT

() Uit (4) uPEd

Samplihg refers to :

(1) Collecting data frbm the whole population
(2) Selecting a portion of the population

(3) Interviewing all people

(4) None of the above

e () o R

(1) g0 e | Aiwe B B

(2) SFEET % TF A B T FA

3) T AT N AR

(4) SWH F q Fg T

94.

A variable that can be measured numerically is called :
(1) Qualitative variable (2) Discrete variable
(3 Quantitativevariable  (4) Nominalvariable
98 T Ol HEATHS WU § AN S A 8, FEAA € -

1) T o] 2) Ritre (swm@) =
(3) HRHS =X (4) T =X

I UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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95. | Frequency distribution shows :

(1) Relationship between two variables
(2) Tabular representation of data

(3) Number of occurrences of each value
(4) A list of formulas

R foeRor gt B

(1) [ = 3 9= gdy

(2) SFST N WReiiTE THET

() 7% AN & ufed @M @ wEA

@) i g

96. Which source provides detailed demographic information ?
(1) NSSO (2) RBIBulletin

(3) Census (4) Newspapers

frefofad & @ F9-91 8 R Sifasid SR & ST 8 7
(1) TrCHTEs (2) ISR gafes

(3) ST (4) ER =

97. | Infrequency distribution, class interval means :

(1) A'ge group (2) Range'of data values
(8) Total data (4) Fixed number

sy R &, o s A oM B

1) &g at (2) oNiFet & Wt A P
(3 T owe (@) Fiew den

UG—EE-?.OZB Bachelor of Arts (Ecox;omics) 4 Year-Code-B
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98.

Which diagram is best for showing frequency distribution of continuous
data ? '

(1) Bardiagram

(2) Line graph

(3) Histogram

(4) Pie chart _

Friet stiest & omgfy Rrerer t Rt @ e @ I9g Ry -4 8 2
(1) =R oR@ : '

@ & IRE

(3) omERE

@ T (FahE)

99.

In a pie diagram, the total angle at the center is :
(1) 90°

(2) 180°

3) 270°

(4) 360°

¢ Al (FaRE) § @ W aw o aa g

(1) 90° | (2) 180°

1@ 270° (4) 360°

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-B
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100, | Which of the following is used to present time series data ?

(1) Pie chart (2) Line graph

8) Barchart (4) Histogram |

W fear sinel B weRfa w0 @ fie Peafeled § @ Far awdnr R o & 2

(1) ¥ arolt (Ser-f) 2) Y@ emg

@) IR ¥R (cer-fm) (4) SgateE

UG-EE-2026 Bachelor of Arts (Economics) 4 Year-Code-B
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1. | In perfect oompetition_; products are :
(1) Differentiated (2) Identical
3) Branded @ - " (4) Seasonal
| o aRdE ¥ s AR
__(D-ﬁﬁﬁa | @ wE
@ s '-(4)1?!'8111"
2 Under perfect competltlon, the firm i is a:
£ '(1) Price. maker ' i (2) Wage ﬁxer
(3) Price taker .' = ~. 4) Government agent
gﬂfmﬁmﬁmﬁaﬁ% SRR s
| g FfE (@) o Pl
g _(3) m@m, Fe® wrﬂ@?
. In the short run, a perfectly competltlve ﬁrm can earn :

(1) Onlynormalproﬁt ‘

(2), Loss normal or supernormal proﬁt

' '(3) Loss only |
| 4. Supernormal profit only

aﬁqmmff Wmﬁmmwwm%

'-(1) %Wmmwam ,
@) @, smmmasmw

@) %aaaﬁ

'A @ %aaammmam
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4. | Aprice ceiling is usually set :

(1) Below équilibrium'price -

2 Above equilibrium price

1) At equilibrium price

. | (4)‘ With no market effect

| i et W g ™ STl %

1) g #Fa @ e |

| @ Hg e s

[ ®  FgEe FHa w| it

@ R R TR i I

. 5 |A price floor js :

(1) Maximuin pr1ce o _~(2) Mlmmum legal pmce
o 3) Equlhbnum pr1ce : (4) Temporary submdy
la oftwmam '_(2)‘-=gaan%aaé’ma‘
® o P @ o W
6 - An example of a price floor is : it |
(1) Ront control RS @) Support price for crops FE
13 D1scount sale : "(4) Auction pr1c1ng
O R b wwff%‘mwﬁﬁw
® m‘m o @dmam

UG-EE-2025 Bachelor of Arts (Ec((f)z;lonncs) 4 Year-Code-C
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Quﬁsotion Questions
7. | Which market form ensures the most efficient resource allocation ?

(1) Monopoly G (2) Oligopoly

(3) Monopolistic competition (4) Perfect compeititon
PIN-HT ST 6T T B E e ofde gied He 7
1) THERER - (2) STeIRERT

(3) RS SREET (4) oot s

| In perfect competition, marginal revenue is equal to:
(1) Total cost s - (2) Average cost
~(3) Marginal cost @ Price |
gt s 3 e o T LT
(1) % arm. : ._- @ a?maama
(3)mwmama _(4)2#1113 S
9. Pr1ce mechamsm refers to' |

(1). Government ﬁxmg prlces
(2) Prlces set by sellers

@) Determmatlon of pnce by demand and supply

@ Black market operatlons iy

»Eﬁqaaaesramzf%
-(1) Wﬂmeﬁmﬁw

(2) ﬁﬁmﬁa‘mzﬁqﬁaqw

®) maﬁ?iﬁmaﬁqﬁﬁm»
4) waﬁﬂﬁ '

'UG-EE-2025 Bachelor of Arts (Economlcs) 1 Year—Code-C
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Code—C
Question i
No. | Questlens ‘
10. [ Which of the following applies only in a competitive market ?

(1) Price d1scr1m1nat1on (2) Homogeneous produéts

3) Smgle seller ~ (4) Government monopoly

mmaammmmmwﬁmm%? |

(1) 3w g . (2) WY @R |
1® = R (@) TE TR

11.

Law of diminishing margmal ut111ty states that :

| @) Total utility i 1ncreases with consumption

(2) Margmal utility increases with each unit
(3) Marginal utility decreases as more umts are consumed
(4) - Utility becomes zero for all goods - :

'Wmﬁmwmm%ﬁs

@) @m@rﬁmwﬂﬂ%m%ﬁ% i
) mm%mmﬁmmm% s
(3) mm%m%mmmﬁmm%

| @ H‘eﬁaﬂeﬁ%ﬁmmﬁmaﬁam%

12,

Consumer s equilibrium is achieved when :
(1) Margmal utility equals pnce '

1@ Total utility is mmlmum :
(3) Budget is exceeded
| 4) Marginal cost eXceeds‘beneﬁt |
| U WG qE o ¥ o
(1) € Swf v 3 EF{l?sl‘{ Eﬁ

Q) ﬁwhﬁmw'eﬁ
(3) mmaama-
(4) A g @ |/ s &

UG—EE-2025 Bachelor of Arts (Econormcs) 4 Year-Code-C
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SET-X
Code—-C

Question :
No. Quunt.hmﬂ

13. | A budget line ropresents :

(1) All combinations that cost less than income

| (2) All combinations costing more than income

1 ' 6)) All comhinations that exactly exhaust income
4 None of flw above

| SoTe Xl il &

[ L@ b wm o @ a e aw ¥

) | s R E R R R S

| @ wh A g om e FA

o wwdasE

i{ . 14. |An indifference curyé shows :

j (1) Cost of produc’ti'on.: |

f | - (2) : .'E<'11'1a'l satisfac\tion _from d@ffél-ént Combinationg of goods
| >(3)- Maximum income " ; | b e iR
] | o (4) Decreasmg utlhty | |

| | SRR % qar

W S A

| @ a@eﬁ%mamawa—gm

| @ ofmm o

| (4) Er?:'?ﬁ m"ﬁm

UG-EE-2025 Bachelor of Arts (Economxcs) 4 Year-Code-C
e e ) e S :
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Code—C

Quﬁrs‘:ion R Questions

15. | Consumer's equ1l1br1u1r1 using mdlfference curve is attained where :
(1) Budget line is above the curve

(2) Budget line is below the curve

1) | Budget line is tangent to the indifference curve

4) Budéet line cuts the indifference curve

ST 9 KT ST T W A o -

(V) T @G TR

|® wmmsma

(3) R Y S e

@ o Y @ ey

16 | Market demand is the . :

(1) Demand by one individual

(2) Demand for serviees orily

(3) Aggregate demand of all consurhers | s
4 _aDemand by producers e

E IR qm T

(V) © @k AT

| @ Faw aaraﬁ I AT

@) eq‘mzmraﬁ Pl el qm

4 G?qm?r AT

‘ UG—EE-2025 Bachelor of Arts (Economlcs) 4 Year-Code-C
: - . (6) .
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Code-C
Q“I‘;}S;‘."m | Quostions
17. | Price elasticity of demand measures :

(1) Change in supply

(2) Responsiveness of demand to price changes
(3) Total inoome

(4) Production cost

T BT | A Q

19.

(1) oft A yRaT
(2) Eﬁqﬁqﬁﬂﬁﬂzﬁnﬁwaﬁnﬁlm
@) T o ‘
(@) S T
18. | If delnand changes more than pr 1ce the demand 18 :
| 1) Inelastic B (2) Elastic
(3) Unitelastic = (4 Perfectly inelastic
ﬁ'mﬁm-wam%-mmm%: '
(1) SE=RR S (2)a1aa‘rr
@ EdwR . @ T A
A rightward'shift in the demand curve 1ndlcates 1L

(1) Increase in demand i (2) Decrease in demand
(3) No change e .~ (4) Increasein price-.

mwﬁwf@wa&ﬂw%

| @ = s @ wm A

3 qﬁ‘q’qﬁaﬁ’ﬂﬂﬁ () Eﬁqﬁﬁ”?{ﬁi

"UG-EE-2025 Bachelor of Arts (Economlcs) 4 Year-Code—C
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Code-C
- QF‘&??"“ Questions
20. | Which of the following is a determinant of demand ?
(1) Production cost -  (2) Consumer'sincome -
) Supply @ GDP
Frafifem & & -an a1 Rt g7
1) SRS T (z)wﬂqarcﬁa:rm
@ ® @
' 21, Whmh of the followmg 1s a source of secondary data ?
1 D1rect mterv1ew : (2) Questlonnalre
1 ® Census report . (4) Observat1on
| ﬁ“ﬂﬁﬂ@ﬁ ¥ B %‘cﬁw eﬂ?b‘e'?f Esr ‘éﬁﬁ g7
","(1) ST (@) P
(&Wﬁrﬁ@é- e (@Wﬂﬁw_
T

Wh1ch of the followmg is a method of prlmary data collectlon ? £

'(1) Government pubhcatlons (2) Census £

3) Q.uest1onna1re i 4) Journals

.'mﬁmﬁﬁﬁ?ﬁmﬁm@@ﬁﬁmﬁﬁﬁ%7'
| v wm— @) ST
.‘,(3)-Ha=lm'éﬁ_; g (4) qﬁm

UG—EE-2025 Bachelor of Arts (Economlcs) 4 Year—Code-C
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SET-X
Code—-C

Question
No.

Questions

28,

Sampling refers to :

(1) Collecting data from the whole pOp_uiation
(2) Selecting a portion of the population

| 3) Interviewing all people

(CY) 'None of the above
R (FTpeenen) o §

1) g&mmﬁm'aﬁm(z) ww%@sﬁmzﬁrwm
(3) Wi AW B AR A 4) ,aqﬁqaﬁﬁaﬁéﬂﬁf

24. A variable that can be measured numerically is called : :
- (1) Qua]itative Variable (2) Discrete variable
o (3) Quant1tat1ve variable | 4 Nommal varlable
'agawhmmwawmm% FEQOME
Q) T =T O (2) Rl (s ,)ar‘
(@ ®wemw @) wmw
25, Frequency distributio.n ehews’

(1) Relatlonshlp between two varlables |
2) Tabular representatmn of data

(3) Number of occurrences of each value

| (4) Alistof formulas
' Wiﬁ" forarar EﬁﬁﬂT% :

(D) @ 30 3 &= gee g (2) mﬁ@zﬁrw{vﬂwn@?ﬁmﬂr

'(3) ﬂﬁmw%aﬁa@%aﬁm (4) ﬁsﬁqﬁ’rqzﬁ

G-EE-2025 Bachelor of Arts (Econonrucs) 4 Year—Code-C
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o AR aRE (2)?131@&@
R (4)‘113‘91?"?1(@@1%13)

s, Code-C
Quﬁs(f_ion Quostions
\
26. | Which sourco provides detmled demographic information ?
(1) NSSO (2) RBIBulletin
() Census , (4) Newspapers
‘ﬁ%m#ﬁmmmhmmwmmm%?
| Towewesr | (2) omvdiond gafes
= ) S FT . L @ Wﬂﬂﬂ o
27. |In frequency distribution, class 1nterval means :
(1) Age group v '(2) Range of data values
(3) Total data - " (4 Fixed number -
| aﬂqf%r TerReT &, it STt Esr anf B ot
(1) GJTQH‘T e 5 (2)\3113@%@3?[%
| ©® o aim s e i e
28. Wluch dlagram is best for showmg frequency dlstnbutlon of continuous
; _data 7= :
() Bardiagram - () Line graph
[ Histogratn o B o (4) Pie chart

ﬁmm%mmﬁmﬁ%mmmmmm?

ot .UG-EE-2025 Bachelor of Arts (Economlcs) 4 Year-Code-C
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SET-X

Code-C
Quﬁsoff"“ Questions
929, | In a pie diagram, the tptal angle at the center is :
@V 90° (2) 180°
@) 270° | (4) 360°
T ael (FanfE) 3 s g A A R
@ 90° @ 180°
|@ 2100 @ 360°
| 80. | Which of the followmg is used to present time series data ?
- | Q) Pie chart '_ (2) ‘Line graph 3
-/ (3) Bar chart N - (4) Hlstogram | I E K )
wmmemﬁm%mmﬁwwmm%?
o W Gars) @ wara |
&) maﬁ(ﬁ@v&ﬁ) (@ R
31. SSI stands for: » .
Je (1) Social Sector I:nst1tut'10n"' 2
R (2) Small Scale Industry
(3 State Sector Investment .
(4) Sustainable Sector In1t1at1ve-
SSIan arf & %
() i &7 g
@ sgem
1@ g &5 fag
1@ @

'UG-EE-2025 Bachelor of Arts (Econonucs) 4 Year-Code-C
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Code-C
Q“I%f)tfo“ Questions
32. | Economic refprms in India were introduced in:
(1) 1980 - (2) 1991
(3) 2000 | (4) 1976
TR 7 RiF gur w9 e gut
(1) 1980 - @) 1991
(3) 2000 @) 1975

33. | »Globalisation'a‘ims to ‘integ‘rate
1 Domestlc economy with global economy
1@ 'Rural with urban economy ,_ |
(3) Agnculture with mdustry
4 Pubhc sector W1th pnvate sector
. %sa‘lmvr IR B |

1@ ﬁqaﬁm&nﬁma@wﬁﬁﬁw
- (2) mrﬁvr AR Tt srefen Ghsvn

@3 weﬂra@msﬁw i
@ SERINE? aﬂ-( Feft & At vhsvn

Wthh orgamsatlon played a role in Ind1a S economlc reforms in 199 1’.

.'34-.','_.-
T @ WHO (@ IMF
e SAARC ‘ " (4) UNESCO
1991ﬁw%mm§mﬁﬁmwm%mﬁwg?‘_"
O s @
'(3)'1’11@. Sl o S TR

| UG-EE-2025 Bachelor of Arts (Economlcs) 4 Year-Code-C
| (12) e _
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(1) Increase black money

(2 Reduce tax compliance

(8) Curb black money and counterfeit currency

(4) Increaseinflation

R & G@W%:.

-(1)'WWW

@ F I T HEN

1@ qﬂﬁmaﬁrqqﬁﬁgmw%mm

| Code-C
@ﬁs;i - Questions
36. | One goal of demonetisation is:

(@) HEmE T
| 36. Goods and Services Tax (GST) was implemented in:
(1) 2015 ‘ | (2) 2016 -
(3) 2017 @ 2018
| T @ & W (diead) #w SlEEE )
1@ 2015% (2) 2016%
(3) 2017% (@ 2018% -
387, |GSTisa type of:

(1) Direct tax
(3) Indirect tax

(2) Excise_duty |
(4) Property tax

SfeEd @& W Y
V) s @ & I
|® R () bR

UG-EE-2025 Bachelor of Arts (Econormcs) 4 Year—Code-C
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Code-C

Quﬁition Quostions

38. | GSTis govorned by:
(1) Planning Commission

(2) NITI Aayog

(3) GST Council (4) RBI
WUHd) F1 HI@H BN HET 87 -

(1) QSFT S (2) fr s
3) shugd wRye () areeers

39. '| The main reason behind the 1991 reforms was:
_(1) High inflation |
(2) Fiscal surplus
3) Balance of payment crisis .
[ (@) Increasein FDI |
| 1991 & gart @ T RO o

1@ = m—% - B
) KEEILC ity
- |® Twegmee

| @ s RRsh FRw (qcss‘rexrg) y qﬁs:

40. Th_e Indian economy at 1ndependence was: -
| @) Self-sufficient . ot
(2) Developed

13 'Stagnanf and backward

(4) Export oriented
o ek @ ReRe
1® Fot ol frodt g (@ fridega

UG-EE-2025 Bachelor of Arts (Economlcs) 4 Year-Code-C TR
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~ﬁaestion
No.

Code-C

Questions

41,

Which of the following is not a function of money ?

(1) Store of value : (2) Medium of exchange
(8) Unit of measurement ‘(4) Consumption of goods
Ffofed & @ B9 G T o R 7

(1) T9 F 9ERT (2) faftera @1 7y

@) T W T | 4) TRt & T

42.

Which of the following is included in the money supply ?
(1) Gold held by RBI - '

1@ Currency held by the p_ubl_ie and dernand deposits

.(3) Government'bonds ‘

| @ F1xed deposits

ﬁwﬁr@ﬂﬂ-wgﬂgﬁiﬁm%?

(1) EieT ERT T T @ S
@ aﬂmmr@"rgmaﬂrmw
(3) T e
@ Hﬁﬁrw

43

| What is the main source of money creatlon by commerc1al banks ?

oy Acceptlng deposuts @) Issulng currency

| (3) Lendlng to borrowers ' (4) Purchasmg assets

'mﬁmﬁﬁmgmwwg@@am%?

Q) o e B @ gmmﬁm

@) R el (@) R A e

UG—EE—2025 Bachelor of Arts (Econormcs) 4 Year-Code-C i
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Question
1 No.

Questions

44,

A higher CRR leads to*:

(1) Increased money creation (2) Decreased lending ability
(3) Increased inflation '(4) Increased profits -

S WA & S § ‘ -

V) S FER | (2) IR 2 B
3) qﬁgﬁgmqﬁﬁ[ ' (4) - e @

45.

Cash Reserve Ratlo (CRR) is the :
(1) Percentage of net demand deposits banks keep with RBI

1 (2) Interest rate charged by banks

(8). Loanrep ayment ratio

|4 Minimum balance for savings accounts

ThE ARG U (HTRAR) e 2

(Dﬁﬁwmmmﬁmmmm%wwwﬂ
(2) 9% B} R T A e

| ® T TEE ew
T@mwwmwmmu

_ 16,

The Bank Rate is the rate at which :

: (1) RBI lends to Government

'(2) Banks lend to RBI
3):  Public borrows from banks
(4) RBI lends to commermal banks

'%ﬂ@ﬁ%mw

(wawwﬁﬁhie

@) 9% AR B o 3y ¥

(&wmﬁmmmﬁ%-'

(@mmﬁmwﬁﬁmm%

UG—EE-2025 Bachelor of Arts (Econonncs

) 4 Year-Code-C _
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Code-C

. |Question y
No. Questions

47. | Repo Rate is the rate at which :

(1) RBI accepts deﬁosits from public
(2) Banks borrow from RBI

(8) . Public borrows from banks -

(4)A Government sells shares
WRERERER: A

(1) SRS ST @ S R 3
© % oIdlond & SuR AR ¥

@) v IF FER AW E

@) FER AT Y

48, An incr'eése in SLR reeults' m;-*
(1) Higher credjt' creatioh -,(2) Reduced funds for. lendmg

3 (3) Lower interest rates # 2 (4) More 1nﬂat1on

maamﬁqﬁaﬁé}m% ~
O o =T '-"(2)az°ra=‘ta‘sf%mmqa‘s'
(3) A T (4) IF TEME. (gmqﬁﬁr)

- 49. Who is the Governor of RBI 7- | .
| 1@ Shaktikanta Das . : "(‘2) Raghﬁiam RaJan
| ® Unjit Patel (4 SanjayMalhotra
- (1) i AT @ g e i
@ awa () o AR

UG-EE-2025 Bachelor of Arts (Economlcs) 4 Year—Code C
: (17) _ el
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: (1) " Total product d1v1ded by input

2) Change In total product due to one more unit of j 1nput
(3) Total cost -

¢ '(4) Average product

%ﬂwm(@ﬁ)éﬁr%

ey ﬁawﬁmﬁﬁmﬁam
2) @fwﬁ@aﬁﬁﬁmﬁgwqﬁaﬁq

(3) ﬁj[ﬁﬂ"’lﬁ

‘(4) eimaafqﬁ

Code-C -
Q“I‘:Isg"“ Questions
- 50. | Margin requuement is used to control ,
(1) Inflation | - (2) Credit for specific purposes
(3) Publicsavings - (4) RBIprofit
A A I B P 0 & A ?
O W (k) (@ bR 3 R
| @) e = (4) ST &
| 51. |Inthe short run, at least one mput 18:
‘ ) Vanable W= (2) Fixed
'(3) Constant . 5 4) Zero S
| o, A o
‘(1)qﬁaﬁaﬁq "'(2)ﬁer(
| ® e ' @ g
52, Marginal Product (MP) is:

UG-EE-2025 Bachelor of Aljts (Economlcs) 4 Y_ea’r-C-ode_-C”,
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Code-C
' ‘Qulslsot‘.ion Questions
53. | Returns to a factor occurs when :
a One input is varied, others kept constant
@) All 1nputs are fixed
(3) All inputs are varled -
Y] Output isfixed
| wsﬁ 1 s @ R & B o
@) @Waﬁaﬂm,mﬁm@
@ whwE R '
| @ = aeF aew Re s
| @ v R
. 54, ‘Tota'l. Cost (TC) equals : ,_ .
5 1 TR-MR - (9 AVCxQuantity -~
1 (3 AFC-AVC - (9 TFC+TVC
_@ama(mﬁ)wa?ﬁ% S B
(1) TR-MR ~ (2) AVC xHEn
1® »'AFC-'-'AVC | (4 TFC+TVC
55, Whlch of the followmg is correct for revenue ? 2 o
| @) MR=ARxQuantity . (2) MR=TR- TC
| @ AR=TR+Quantity (4 TR= ARX Quantlty .
w%maﬁﬂmwz@%? = e
1@ MR= ARX‘TEIT (2) MR= TR 'TC
‘(3) AR= TR+IHE|T | _f (4) TR = AR x A=

UG—EE—2025 Bachelor of Arts (Economlcs) 4 Year-Code-C
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 SETZX

Code-C
Question Questions
No. ‘
56. | A supply curve genorally slopes :

BT

(1) Downward ~ (2) Horizontally
8) Vertically (4 Upward
W T B T R |
O WP ek | (2) AR
(8) MY (4 IR A AR
When output is zero, total cost'equals : o
(1) Zero - (2) Total fixed cost
() Total vatiablecost’ (4) Marginal cost
@ = S @ ThRam

| ® @ﬁqﬁaﬁ:nq R (@) d A

| s8.

Wluch cost curve is U- shaped P

@ Average fixed cost @ Total ﬁxed cost

(8) ‘Marginal cost ~ (4) All cost curves

ﬁwﬁﬁﬁsmmeww@m%? ot !

(1) owd Rex arm ‘_(2)@%1?@1_3’
@ WRam @ whaw
: ,59..4- When MC <AC the average cost is :
} o (1) Increasmg . N (2) Constant
| ® Decreasing - | 4) Zero
7@ MC <AC &, @t ohae o &t & ¢
O |RAEINE @ Rxawd
@ m@AMeE - @) i

UG—EE—2025 Bachelor of Arts‘ (Economws) 4 Year-Code-C_ =
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G st"'. n
@1?10],10 ‘ Questions
60. Average Fixed Cost (AFC) always :
(1) Increases with output  (2) Remains constant
(3) Decreasés with output (4) Becomes zero
aﬂwWam(qqq;m) e
Q) ST S EM a0 (2 Rwwh R
| (@) ST ® W gt 8 (4)21;21'€rvfrcﬂ%
- 61, | The Union Budget in Indla is presented by
1) President. i (2) Pr1me Minister
(3) F1nance Mlmster | (4) RBI Governor
(1) T B @) e
@) fm R (4) - IEAE T
62. | What are the two main pa__r‘tsv'of a goYernx_n'ent budget ? o

(@ Direct: and Indirect tai‘x_es_ :
| (2)' DonleStic'and Fo.reignloans |

5 £ (3) Recelpts and Expendltures

(4) Revenue and Cap1tal account

mﬁm%ag@ﬁmw%?

. , - @ - maﬁrmm
o @ ﬁqaﬁtﬁ%sﬁam
(@) wre-deE.

@ Waﬁrwﬂa@r

UG-EE-2025 Bachelor of Arts ‘(Economlcs) 4 Year-Code-C ey
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Code-C

Question

No. ' Quostions

63.

(1) National defence
(3 Education ‘

Which of tho following is non-developmental objective of a budget ?

(2) Health
(4) Agriculture

| =% R e o o v R w2 B 7

———}

Q) T (2) w@rRA
3) R @)
64. | The union budget is prepared by:
(1) Parliament, (2) NITI Aayog
3) Mlmstry of Finanace (4) RBI
FT T Py T FaT 87 .
1) §§g | o (2) My emEm
G ‘FHFRI . @ aﬂrdm's‘
65.~ Wthh of the followmg 1S a revenue rece1pt'7
(1) Borrowmg from pubhc (@) Recovery of loans
(8) Tax receipts :(4) Sale of shares -
'ﬁrﬂﬁéﬁﬁﬁmmﬁ%? s,
| RS ()
1@ = i 4) W N R
" 66.. Adeﬁmt budget means: i a0 ,
(1) Recelpts = Expendlture | (2) Revenue =Capital
3) Expendlture >Receipts = (4) Expenditure < Receiﬁts
'(1)mm—aw (2')W“°15ﬁl
(B) =g > it @) =T < ik

-‘ v UG—EE-2025 Bachelor of Arts (Economlcs) 4 Year—Code-C :
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Code—-C

tion o 8 .
@Igsol ~* 'Questions

67. | Fiscal deficit refers to:
(1) Total Revenue — Total Expenditure
(2) Total Expenditure — Total Receipt (excluding borrowings)-

3) Revenue deficit + Capltal Deficit
() Trade Deficit

TR aer A

| R TIGRH NI R

(2) W = — F (ﬂ%ﬂr @W)
3) T EITcT + Qoft orer

e ( 4)‘ W ‘c'nET.

v68’. , Revenue deficit occui"snwhen' |
| , _(1) Revenue recelpts < Revenue expend.lture
(2) Capltal expendlture > Cap1ta1 recelpts _
3 Revenue recelpts > Revenue expend1ture_ :
| (4) Revenue recelpts = Capltal recelpts
T e A ¥ T |
(1) R qiftaEr < W Y
| @ > it ik |
1@ Wﬁﬁ?ﬁ>wmw
| (4) L] m < tgeﬁ mf?m

UG-EE-2025 Bachelor of Arts (Economlcs) 4 Year-Code-C
) (23) , A
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Question
No.

Code~C

Questions

69.

Primary deficit is:

(1) TFiscal deficit — interest payments

2) Revenue deficit — fiscal deficit

() Revenue expenditure — capital receipts

(4) Interest payments — capital deﬁc1t
TR T S b '

(V) TR e - o i

| @ T e - o e
@ T = -

@ = g -

: 70 Wthh budget type is used durmg 1nﬂat1on to control pnce nse"
e (1) Balanced budget (@ Deﬁc1t budget
@A) Surplus budget A _ (4) Capital budget :
m(ms)swmqssmmmsmmmwmme?f
(1) ¥R T '-'."4‘(2)m%asrw |
| ® oAy o % @ o o
A

1@ Manmohan Singh
| (3 Dharmendra Pradhan
| El?fqﬁ ¥ 9Ra B forr ==t zr?m 1)

Who is the Finance Miriister of India:' |
() P. Chidambaram -
@ Nirmala Sitharaman

1) weTRie (2>t‘frfaaw
(3)‘?Jif§H%TFf et (4)ﬁ|ﬁmtﬁmq:i

UG-EE-2025 Bachelor of Arts (ECOHOIIIICS

) 4 Year-Code-C
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(1) Financial bill

| (2) Economic estimate

3) Annual ﬁnanc1al statement
(4) Fiscal plan RO

A T B S T %?
(1) Rt Rl |

|@ i g

® mﬁmﬁ?ﬁam
@ mzﬁ@rq?ﬂw |

Code-C
- [Question ' ' ‘
Q“I‘\’,So_o Questions
72. | A government budget is also known as : .

: 73. . ,The red1str1but1on functlon of a budget aims to:

e (1) Increase 1nequahty 4

( (2) Promote only prlvate wealth

' 3)- Redu_ce 1ncomeﬂ-1nequal1t_y 2

g -(4)‘ Itlcteaee gevernnient empleyeeS'- incbme only

_’,-’aﬁzasrgqféﬁwmﬁﬁaaﬁra@w%?' |

@ o a0
| @ daw Feht w2 amn &

@) amraqua?famm
(4) %aawrﬁmﬁu’raﬁmm

(25)
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Question!
No.

S

Questions

74.

‘7
Which of the following is not an objective of a government budget!
(1) Resour cce allocation (2) Income redistribution

)  Price stability (4) Increasing public debt

1) w9 agesy .(2)amzsrg=rﬁiaw_
(3)%1?@1131 (@) udwR ®O b

75.

The mam obJectlve of a government budget 1s:

1) To promote 1nequahty
@) To Create 1nﬂat10n :

() To achieve economic stab1hty and growth
@ To reduce exports ' |

| Amﬁwwg@aﬁmwé?

(1) ST B qgrEr 3

©2) TETE (ameﬁrﬁf)a?q-—rrm
3) wﬁmm@rﬂq@mm
) . ﬁqiaemm'

76.

| Life expectancy in India at the t1me of 1ndependence was

approximately’:‘
(1) :32Years 3 (2) 65 Years R
| 3) 50 Years _ (4) 70Years
QAT 6 T8 9RA ﬁ aﬁw Sfte SR o
@ sgad- - ©® sser'sf
| ® 50wt @y T0ud

UG-EE-2025 Bachelor of Arts (Econonucs) 4 Year-Codee
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; "(1) RBI

Code-C
Quﬁitfon Questions
4 . 77. | India alf'iOIJted_ the planning model from which country?
@ usa (2) USSR
® China @ UK
| wRa A Ao e R 29 A ST )
O @ @ W
o= @
- 78. Which sectdr Was _thé fécus of fhe .First Five Year Plaﬁ?
o Industry ) Trade |
1(3) Agrlculture :» . (4) Serv1ces |
_ mmmammwwﬁmmww ;
e @aw
O @
f 79.“ The Planning\Commis‘sion.w.as i'eplaced in 2015 by: -

(2) Finance Commission

@ NITIAayog @ National Board of Finance
2015ﬁzﬁwa¢r=ﬁmﬁmﬁmﬁamﬂw .

) arhort S @ P e

'(3) =ﬂi?renimr - _' (4)v¢maazné

(27)
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" Quﬁs;tion ; Questions

80. | A key feature of the Green Revolution was the use of:
(1) Manual labour s

(2) Traditional seeds

(3) High- Yleldlng Variety seeds

(4 Organic farming |
émmawmmwm'

D) =7 Pt s i
@wmm R R,
.enmwmmm e
@Wmﬁ e

B 81 | : The' a’rithmetic mean of 'a dayta:.:set is.‘il:he i

% (1) Most frequently occurrmg value | % e

(2) Mlddle value él

(3) ‘Sum of values di’vided by ngmber.of:' values

o ‘(4) Largest value “ -- - . 5

Hemmwwmwmwmm%

"mWMMmem o

-@WW V.” ' e

[® @wamamw%m 5

4@@%%

UG-EE-2025 Bachelor of Arts (E((BOI;OHIICS) 4 Year-Code-C
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}@'ﬁon : Questions |
’;2. Mode is defined as : !
| (1) Sum of all valués | (2) Value with maximum ﬁeqnency
1 (8) | Middle value '_ “(4) Value with minimum frequency

o wmﬁf%qﬁwmﬁﬁ*(z)',‘aaammmaraqﬁ%mﬁ

SET-X

|® iy (4)mamar<emaemamﬁ
83 The value of correlatmn coefﬁment hes between
| -2and2 (@ -land+1
) Oand1 (4 1and100
Wﬂg@ﬂ%wmﬁmm%mﬂaﬂ%? ;
@ —2dr2 @ —13R+1
@ odr1 L@ 17100

84, | A scatter d1agram shows

' (1) Frequency .

(2) Central fendency

' (3) Direction and strength of correlatmn
| @ Median '

i Frawa ot aaﬁar ¥

1o @ gnqﬁr

@ Rl B f
e asaaaaafasnai’maaa 5

@ mtmr s

UG—EE-2025 Bache,lor of Arts (E((:m;onucs) 4 Year-Code-C
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Code-C

 |Question d
No. Questions |
85. [ Karl Pearson's method of correlation is suitable for :

(1) Qualitative data -

(2) Grouped data only

(3) Ungrouped quantitative data .-

(C)) Textual data

| mﬁaﬁaaﬁmaﬁmwgw%

(D T diwe & R

| (2)-%%@'3@%@ : :
(3) ﬁmwmﬁqﬁmaﬁﬁf%m
(4) T e B R

86.

An 1_ndex number is :

| (1) Aperceritage '

2 A number representmg change ina var1ab1e over time

3) A mean

| '(4) A type of graph
' 'qzﬁgama@ra?ﬁ%

(1) T SR

1@ W%wmﬁmﬁqﬁaﬁwﬁmﬁaﬁﬁm

(3) @aﬂﬁa

| @ qzsmaaraﬁa

(30)
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Code-C

Questions

87. | The Consume1 Price Index (CPI) measures :
.| 1) Price pajd by producexs (2) Price of exports
(3) Price paid by consumers (4) Price paid by wholesalers
| T T g (o) o &
| v T A A (@) R @
3) S @ & nélem%f' @) 4% Rl @ &
: 88. Wthh 1ndex is commonly used to measure mﬂatlon inIndia ? .
@ cer o R j @ P
: (@ GDP S - v (4) Balance of trade |
'wﬁgmm%ﬁrzﬁmﬁ%mmm ﬁ?mwmﬁsmm%?
| @ (@ e et
e e W SR WG
89. | What is meant by inflation ? |

: -' "(1‘) | Decrease in prices Ao
1@ - Increase in the value of money

1@ R1se in general price level.

| (‘4)' increas'e in production ~ .

" Wﬂmmaﬁ%?

1) ﬁqﬁ’fﬁﬁm

e gar%mﬁqﬁﬁ

@) W{ﬂmﬁﬁ'ﬁ

| @ o ¥ g

UG-EE..2()25 Bachelor of Arts (Economlcs) 4 Year-Code-C
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Quﬁiﬁm = " & iy Questions\

90. If two variables move in opposute directions, the correlatlon 1e
‘ (1) Zero . , (2) Positive
3) Negatwe ~"(4) Undefined
¢ qﬁaﬂ?ﬁﬂﬁﬂﬁ?ﬂaﬁﬁﬂﬂﬁg ?IIWH@HT%
OB S @ e
® Wm0 @ Sl
' 91 Net I lomestlc Product (NDP) isequalto: S S
| Q). GDP + Net Indirect Tax @ GDP Deprec1at10n
| (3) GNP - Subsidies (4) GDP + Deprec1at1on
WWW(@E&@)WW% SHE
D). T + gz o R (2) hed - 11;@1‘@11
(3) Gﬂwﬁ wfewt .‘ (4)Trﬂ'§r[ﬁ+w

(EEATS o amliadad s i St s o &l

: 92, NNP at Factor Cost is also called , 2
i (1) Natlonal Income = (2). Domestlc Income
e 3) Personal Income L (4) Pr1vate Income

; Hm:ramaqr@r'ﬁd‘r ﬁeﬂxwww% 2

O wem @ Wy

|® #emwam ) feha

E 93. - GDP at market price 1nc1udes

(1) Factor cost only el (2) Sub31d1es only i

1) - Ind1rect taxes — subs1d_1es (4) Net factor mcome ﬁ'om abroad
| AR e A e ,

() F@ W (z)%awr%aa

@ wmmaaRE 0 ) R Y o
UG—EE-2025 Bachelor of Arts (E((mnomlcs) 4 Year-CodeC =
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Code-C
@0“ " Questions
94. | Real GDPis:
(1) GDP at current prices . (2) GDP at constant prices
3) GDP-tax (4 GDP+inflation -
| e S e 8 e
@ TR w A (2) Rew Bt w S
(3) 11 S S '(4)Gﬁé’rd>[+gmmﬁf
" 95. . If nominal GDP i increases and real GDP remains the same, then :-
-1 (@) Output has_mcreased @ Pnces have mcreased
| 3) Taxes have decreased @ Exports increased
a5 ﬁﬁ%%ﬁﬁ%ﬁwﬁmﬁﬁwwﬁ% Il
| ey @ sweE
e mwE (4)ﬁa1aaar%
96. | Disposable i income = Personal 1ncome ?
(1) Corporate tax _ (2) Income tax
1) Depreciation (4) Indlrect tax
| (1)_%@%3%@ , (Z)BWFT ,
(3)@-@—{:; S _“.'..-(4) GWRI&TEF{_
97. H1gh GDP growth but low welfare 1mphes s
s (1) Eqmtable dlstrlbutlon' : (2) Income mequahty
(3) ngh employment 4 ' (4) Low 1nﬂat;on o
;3?;[ e afs AT T T g:
@) e (mmﬁﬂ)ﬁmw’ (2) I
"'(3) G’E[W , (4)55'7331”{1?31?[

(33)
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Code-C
S‘ﬁfﬁo“ Questions
98; When GDP increases but pollution worsens, welfare :
(1) Improves . (2) Worsens
(3) Remains the same ~(4) Becomes unpredictable
WY SE Tod ¥ Afea SRV gl &, e
(1) guxar @ (2 famEar
@) w0 @) sPRem R e
99. | Which is the better indicator of economic growth ?
- (1) NominalGDP ~~ (2) Real GDP
() GNP at market price -~ (4). NNP at factor cost
,mmwwmw%? i
W) TGS (@)
(3) waﬂnﬁwﬁﬁw (4)ma=rarr|awq=m=rdi
©100.

Whlch of the followmg isa part of domestlc terrltory ?

D Indlan embassy in the USA

(2) Foreign Bankin India

(3) Indian citizens abrqad |

1 (4) NRIs : ' ~
| Freafeifem & @ ai-an ok 8 o W B 2

1) AR & R IRGR I I
@ W & R ¥
3) ﬁ%sr_.ff#r«ﬁw;rrrrhas*_

Y @) qam’rmaw L5

UG-EE-2025 Bachelor of Arts (Econormcs) 4 Year-Code-C '
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SET-X

| Code-D
~ |Question ~ Questions
No.
1. |The aliithmetic mean of a datd set 18 the :
: (1) Most frequgntly 6ccurring value
(2) Middle value |
3) Sum of values divided by number of vglues
(4) Largestvalue " |
frll STt e W amﬁm ai’m a %
() &8 3w ax aﬁ arar =n=r
(2) "= o | ‘ i
)] @mﬁfﬁmammﬁ’r%m
@) TRI@AT , ,
2, Mo_de ié deﬁnedv'as L 28 . ‘
L e (1) Sum of all valuesl - .'f;r (2) : Value with maximum frequency
(3) Middle value i "'_(4) Value W1th minimum frequency
| 2 oo R o &+ |
) A E AT E WA (2)mmmaﬁalaqﬁ$mﬁ
@, mm%m#. (4)aa1}$qmcﬂﬁmﬁqﬁ%mﬁ
- 8. The value of correlatlon coeﬁclent lies between : ”
o (1) —2and2 @ -land#
i 3 Oand1 . (4) 1and100
. mmmmmmq}mma?
(1) -2dR2 @) -13+1 ‘
(3)* oeiru (@) 18R100

G—EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D
“ | (1)



SET-X

(1) Frequency

(2) Central tendency )

(3) Direction and strength of correlation

(4) Median

ferate e guifar @ 300 |

W smf @ ¥ sgf
(3) weHdw @ Rym of7 e (4) WA

Code-D
Q“{G’:}‘""“ Questions i
4. | A scatter diagram shows ;

Karl Pearson's method of correlation is suitable for :
(1) Qualitative data

(2) Grouped data only

(3) Ungrouped quantitative data
(4) Textualdata |

Frd REe 1 weddy Ry Sugw @
(1) ToTeT JAwSt & fw

(2) %aw wyfRd aiwd B R

3) fr ¥ IR TS ms‘t 3 fv‘m
(4) Uy HAwEl & RiC

An index number is :
(1) A percentage
(2) A number representing change ina vanable over time
(3) Amean

(4) A type of graph . .

UF gaAHE ST B g

(1) & g ,

(2) w94 % 99 frdl =X # qRadw & 9w ah der

omn

| 8) @& haa

4) TF TR A amy

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D '
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Code-D

[Quostion Questions
No

7. | The Consumer Price Index (CPI) measures :

(1) Price paid by producers  (2) Price of exports
(3) Price paid by consumers (4) Price paid by wholesalers

Iyt e e (Wdem) o @
(1) Swrd @ § B 2) Fafa #i Fad
®) It & T Aimd . (4) 9 et @ & Fid

8. | Which index is commonly used to measure inflation in India ? y
(1) CPI @ Ip ‘
(3 GDP '(4) 'Balance of trade
TR 7 PERGf B A % e e aﬁwwq&mnﬁw%m%?
(1) Hrframg S (2) e
(3) ohérdt (@) A HG

9. | What is meant by inflation ?
(1) Decrease in prices . (2) Increase in the value of money
(3) Rise in general price level (4) Increase in production
Yehify & o @ 7 |

1) Fwd e - @ WA T

@ TmEIEE A (4) SO A 3R

10. | If two variables move in opposite directions, the correlation is :

(1) Zero , (2) Positive
(3) Negative e (4) Untefined
R & o fawda Remedt # awd ¥, O wewdy & ¥
1 @« - (2) ERTTE

(3) TEHEF - (4) sRwiRa

UG-EE-2026 Bachelor of Arts (Economics) 4 Year-Code-D
(3)
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u - 1
N §s§.ion .Questions

11. | SSI stands for: _
(1) Social Sector Institution
(2) Small Scale Industry

(3) State Sector Investment

(4) Sustainable Sector Imtlatlve
SSI &1 aref 2

(1) §ofes & s
(2) g S

(B) ¥ &% frRw

4) o & e -

12. | Economic reforms in India were introduced in:
(1) 1980 s ) 1991

3) 2000 (4) 1975

AR § s gur F= gra |

(1) 1980 ' (@) 1991

(3 2000 i » (4) 1975

" 13. | Globalisation aims to integrate: p
‘(1) Domestic economy with global economy
(2) Rural with urban economy

(3) Agriculture with industry

(4) Public sector with private sector

AwdipTT F IR & |

(1) WY FfFaen B Ras e F s
(2) 7 R wEd srerERn @ g -
() T o wEm @ S

(@) wewtE AR Pl & &t e

“UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D
4)
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Code-D
Question Questions
No.
14. | Which organisation played a role in India's economic reforms in 1991?
(1) WHO (2) IMF
(3) SAARC ' (4) UNESCO
1991 ¥ wa B ffE At & Rew e A gt Frow?
(1) sTER - (2) IS
(3) (@) g
15. | One goal of demonetisation is:
| (1) Increase black money
(2) Reduce tax compliance |
(3) Curb black money and counterfeit currency
' (4) Increase inflation
Rt &1 U SR 8
(1) 99 T
(2) X I B HC
(3) A & WX THA AT W GG T
4) wemg TG
16.. :_G'dods and Services Tax (GST) was implemented in:
_(}) 2016 _ - (2) 2016
| @ 2017 (4) 2018
T W 0 (dhawd) w4 ary gan?
(1) 2015% . 2) 20167
@) 2017% (4) 20187 -

’ UG—EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D
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SET-x
Code-p
Quﬁs(;cion Questions ﬁ
: T
17. | GST is a type of:
(1) Direct tax (2) Excise duty
(8) Indirect tax o (4) Property tax
ST @& IR 3:
(1) o ¥ | (2) SR {5F
(3) WY &N (4w
18. | GSTis governed by: |
(1) Planning Commiséion: (2) NITI Aayog
(3) GST Council @ RBI
SITEE] H HEaT BIF HT 87
(1) TS ST --",_(2):ﬁfaawm
(3) oimed wwe @) mdtes
19. | The main reason behind the 1991 reforms was:
(1) High inflation
(2) Fiscal surplus
(3) Balance of payment crisis
(4) Increasein FDI » |
1991 & GaI & JCH HRT 41 ¢
(1) = T
(2) TorHdE Sy
(3) TN HYRT WHe
(4) weae fRdlt Frwr (Tw.domd) ¥ ofg |
- ’ /
- UG-EE-2025 Bachelor of Arts (Economijc

) 4 Year-Code-D
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Qu;:;::.lon Questions

20. | The Indian economy at independence was:

(1) Self-sufficient
(2) Developed
(3) Stagnant and backward

(4) Export-oriented
WA B TG AR swefeaen

Q) TR
(2) =i
@ fe R Pod g
(4) fFrEE@
21. | The Union Budget in Ind1a is presented by :
(1) President 2) Prime Minister
(3) Finance Minister (4) RBI Governor
kA § A T A NI AR P
1) TRt e @) marE
@) f == (4) SRR MY

22, Whet are the two main parts of a government budget ?
(1) Direct and Indirect taxes

'(12)' Domestic and Foreign loans

(3) Receipts and Expenditures.

(4) Revenue and Capital account

| T woe & & qew R E

(1) S ST S &Y - (2) Wy ol st =
@) wifdt iR = @) I R geft

UG-EE-2026 Bachelor of Arts (Economics) 4 Year-Code-D
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ﬂQuﬁs;..ion Questions ﬁ .
23. | Which of the following is a non-developmental objective of a budget ? |=
| (1) National defence A (2) Health
(3) Education | (4) Agriculture
N 7§ $9-0 e 71 R e 2w B 7
1) T @ o Q) @A
@) Ren @
24. | The union budget is prepared by:
() Parliament (@) NITI Aayog
(8) Ministry of Finanace @~ (4) RBI
S T B TR B 87 |
W ww - @ W e
@) foa W | @) IR i
25. | Which of the following is a revenue receipt?
(1) Borrowing from ﬁu‘blic - (2) Recovery of loans
(3) Taxreceipts = (4) Sale of shares
| P F § P-E T i 87 T S
1) S AT () T N I
(3) FHY @ =T @
26. | A deficit budget means: .
(1) Receipts = Expenditure (2) Revenue= Capital
(3) Expenditure > Receipts .(4) Exp_endituré < Receipts
e H IC qaad ¢ '
(1) witedi == 2) o = ot
3) =g > s @) T < mie L
: A

UG-EE-2026 Bachelor of Arts (Economics) 4 Year-Code-D
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ﬁuﬁs;tion Questions

27. | Fiscal deficit refers to:

(1) Total Revenue — ’I;otal‘ Expenditure

(2) Total Expenditure — Total‘R'ecei.pt (excluding borrowings)
(3) Revenue deficit + Capital Deficit

(4) Trade Deficit

TR e B ¥

(1) F9 TR — % =@ |

| @ T = - s (0 gE)

@) T ueT + G a’r

@) =R e |

28. Revenue deficit occurs when:

(1) Revenue récefpts < Revenue'expenditure
2) Capital expenditﬁre > Capital receipts
3) Revenue receipts > Revepue expenditure
(4) Revenue receipts = Capital receipts
ST 9TeT 9 BRI & |

(1) T S < T

@ e > §f wRw

(3) et Wikl > e @

@) o wfedt < §oft mikwr

. UG-EE-20256 Bachelor of Arts (Economics) 4 Year-Code-D
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Quﬁition A Questions _ : |
29, Primary deficit is: _ |
(1) Fiscal deficit — interest payments
(2) Revenue deficit - fiscal deficit
(3) Revenue expenditure = capital i'eceipts _
(4) Interest pPayments — capital deficit
TR e i ¥ =
(1) T e - o A
(@) I T - T e
() T = - & wRE
@ == TR - firvn |
- 30. | Which budget type is used dunng mﬂatlon to control price rise?
. (1) Balanced budget _ (@) Deficit budget
3) Surplus budget 2 '. | (4.1) Capital budget : ‘
W(Wﬁ)%mmﬁﬁmﬁﬂm%mmﬂmmmy
(1) wg T (@) M H g
@) T oy ‘Eﬁnﬁ e
| 8L1. [ NetDomestic Product (NDP) is equal to ;
ip (1) GDP + Net Indirect Tax (@) Gpp- Deprecmtmn
® GNP — Subsidies | 4 GDP+ Depreciation
% TR, T () e a b
M M+ g (g g
| (3) Siedt — Hﬁ‘ﬂﬁ ) “ﬁiﬁtﬂ + w
UG-EE-2025 Bachelor of Arts Eoonomim———— —

agy Y 4 Year-Code
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| 34

Code-D
|Question Questions

No.
32. | NNP at Factor Cost is also called :

1) National Income "~ (2) Domestic Income

(3) 'Personal Income - 4) Priv#te Income

CICE UGG R A B @reﬁtwmw%?

1) TEE A L (@) g em

@) =fw | (4) Pl om LA
33. GDP at market pr1ce mcludes _

(1) Factor costonly (2) Sub51d1es only

(3) Indirect taxes — subsxdles (4) Net factor i income from abroad

IVR B | S 7 b e 3

@ Fwamam @ S )
@) o AR (@) RRw A e W oW
Real GDP is:

h (1) GDP at current pnces .

(2) GDP at constant prices |
@) GDP -tax ,
@ GDP + inflation .

'mraasaﬁmam%
@) o #eE wAEd
| @ ferx mal o SiEd

3) ShEr —F o
@) i + g

UG-EE-2026 Bachelor of Arts (Economics) 4 Year-Code-D
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Question
No.

Quostions

356.

If nominal GDP incroases nnd roal GDP remains the same, then :

¥

(1) Output has incroasod (2) Prices have increased
(3) Taxes have docroased ~ (4) Exports increased
R FPRE NN o ¥ oM el A T wR Y, A
(1) SR 2) @ gt ¥
@) ey (4) Frafa Te1 8
- 86. | Disposable income = Personal income ?

(1) Corporate tax (2) Income tax
3) Depreciation (4) Indirect tax
AT o = AR A -7
D) IR Q) IR

e @) T (4) oy ¢

37. | High GDP growth but low welfare implies :

(1) Equitable distribution (2) Income ine.aquality
(3) High employmentv (4) Lowinfl ation

v i g QT T EAT e g

(1) @A (") Reror @ om ST

(8) = UFIX - | @) = ERR

 UG-EE-2025 Bachelor of Arts (Economig
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. QUI%SﬁOH Questions
0.

38. | When GDP increases but pollution worsens, welfare :

(1) Improves g (2) Worsens

(3) Remains the same - | @ Becomes unpredictable
v S Tt & AR :@m Tl 8, @ F: |

1 grag (2) P ¥

@ WHwAE . (4) FREw @ o 2

39. | Which is the better indicator of eaonomic growth ?
(1) Nominal GDP R - (2) Real GDP
(8) GNP at market price (4) NNP at factor cost .
aﬁmmzsrazmmw%? o
(1)_:rrqmavﬁsﬁrﬁ e (2)a1mﬁzsrn°rsﬁtﬁ ‘
(3)' waﬁiﬁrq‘(-éﬂm_ o (4) T AR TG

40, Wh.lch of the followmg 1s a part of domestic territory ?

(1) Indian embassy in the USA

(2) Foreign Bankin Indla_

(8) Indian citizens 'ab'road

@ NRIs |
ﬁwﬁfmﬁﬁaﬁa-maiqaamm% ?

(1) - AR ¥ W e

(2) IRA # farsft = '

@) Ry & 9y e

| @ i s
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41. | In the short run, at, least one input is ; hy
(1) Variable
(2) Fixed | |
(3) Constant | |
(4) Zero
S ¥, B X w0 [ w
(1) o
2) fer
(3). SER]
4 7= |
42. Marginal Product (MP) is : |
(1) Total product divided by input
(2) Change in total product due to one more unit of input
(3) Total cost
(4) Average product
U S (o) dr B
(1) @ 9= & aeq 4 Bl s
(2) % 3= uF ool g @ g oRgdy
(3) FA arm
(4) o e -
UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D
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438. | Returns to a factor occurs when :

(1) One input is varied, othors kept constant
(2) Allinputs are fixed
(8) Allinputs are varied -

(4) Output is fixed

UF G & Sfaea a9 afed a‘m % W :
@ @Waﬁwm,mm%
2) i wnE Rer Ef
@ @it we T R |
| (0 SEe Rex @ |
44, | Total Cost (TC) equals : _
(1) TR-MR ' (2) AVC x Quantity
(3) AFC-AVC (4) TFC+TVC
. @ (Sl TR ARl @ |
(1) TR—-MR (2) AVC x 5B
(3) AFC-AVC 4) TFC+TVC

4b.

Whlch of the following is correct for revenue ?

(1) MR =AR X Quantity (2 MR=TR-TC

(8) AR=TR + Quantity (4) TR =AR x Quantity
W 3 R B-ar o h g 7

(1) MR=ARx"mr (20 MR=TR-TC

(8) AR=TR +9r= ' (4) TR = AR X [T

UG-EE-ZOZB Bachelor of Arts (Economics) 4 Year-Code-D
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46. | A supply curve generally slopes :
(1) Downward (2) Horizontally
(3) Vertically (4) Upward
o @ & amr: ewH ar @
(1) = R R (2) &=
| @ wahr (@) SWAER
47. | When output is zero, total cost equals :
(1) Zero (2) Total fixed cost
(3) Total variable cost (4) Marginal cost
9 SARA A &, 99 FF AR ol 8
W) g3 | @ T et @
(3) T WRAdHIE AT (@ dmr arE
48. | Which cost curve is U-shaped ?
(1) Average fixedcost .  (2) Total fixed cost
(3) Marginal cost . (4) All cost curves
F A AA-1 ' 3% USSR S aar & 7
(1) drea Rt e 2 9 R I
(3) ¥ arm - 4) = e %
49. | When MC < AC, the average cost is :
(1) Increasing (2) Constant
(3) Decreasing (4) Zero
g MC <AC#, @t 3lred @ 8l 8 -
(1) 9% @ &d g (2) fet et &
(3) wE W Ede (4) ¥ o ~
_

UG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D
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50. | Average Iixed Cost (AFC) always :

(1) Increases with output (2) Remains constant
(8) Decreases with output (4) Becomes zero
aaa R @/ (T aw ) saer

(1) ST & W dEd 8 (2) R wh @

(8) UG B W Hedll o (4) @ & o R

51. | Law of diminishing marginal utility states that :
(1) Total utility increases with consumption

(2) Marginal utility increases with each unit

(4) Utility becomes zero for all goods

| S SwEitEr § e o e wear 8 o

1) FA SR ST B W e 8

@) T I B qY A ST T @

(3) I TR & ST & WY 9 Swi gl @
@) T TRgel & R ST g @ o}

(8) Marginal utility decreases as more units are consumed

52. | Consumer's equilibrium is achieved when :
| (1) Marginal utility equals price |

(2) Total utility is minimum |

(3) Budget is exceeded

(4) Marginal cost exceeds benefit

SR FE A W A §

(1) dra SR @9 & SUET 8

(@) T ST e &
(8) T W AtE A
| @ dwra arm @™ @ s @

UG-EE-2026 Bachelor of Arts (Economics) 4 Year-Code-D
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53.

A budget line represents :

(1) All combinations that cost less than income
(2) All combinations costing more than income
(3) All combinations that exactly exhaust income
(4) None of the above |

"_W%@raﬂh‘r%

ey Wmﬂﬁmﬁm@émﬁ%

@ dA N o & e T w

3) wq |4 S gh o ud F E
(4) SR 7 T B T

e

54.

An indifference curve shows :

(1) Cost of p‘roductio'n

(2) Equal satisfaction from different combinatjong of goods
(3) Maximum income

4) Decreasing utility

CAGIECICEACH G

(1) SR @

2) gt & = @9t @ qum dfte

(3) iR Y

(4) e TR

UG-EE-2025 Bachelor of Arts (Economjeay 53
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55. | Consumer's equilibrium using indifference curve is attained whero :

(1) Bﬁdget line is above the curve

@) Budget line is below the curve

(83) Budget line is tangent to the indifference culrve
(4) Budget line cuts the indifferenbe curve

SRR T G SR Y T I B T

(1) T X0 T D TR &

(2) oo @ @h b A A

3) mi‘@mﬂmaﬂsaﬁmﬂma

(4) 9o 3G1 FF B Bl &

 56. | Market &emgnd is the :

(1) Demand by one individual

2 De;nénd for services only

(8) Aggregate démand of all coné’umers
(490 Demand by producers' |

TR AT Bl § ¢

() @ afe @A

© daw Aaelt # AT

@) W SudE # W A

(4) SR AT

G-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D

(19)




SET~Y
Code-D
Quost. o
)“;,,'::'i“" Quontionn N
67. | Price olaaticity of domand monnuros :
(1) Changoein supply
(2)  Responsivenoss of demand Lo prico changos
@) Total incomo
(4) Production cost
W A B g e Y
(1) 9 ¥ yRach _
(2) @b R & wfy b i afaler
(3) W@ AW
(4) SAORH APK
58. | If demand changes more than price, the demand is :
(1) Inelastic o (2) Llastic
(3) Unitelastic (4) Perfectly inelastic
it w4t i aRad P & A 8, i gkl @
(1) AAEwER (2) WER
(3) THE MEER . (@) T AEERR
59. | A rightward shift in the demand curve indicates :
(1) Increaseindemand (2) Decrease in demand
(8) Nochange (4) Increase in price
i g & gt fawer gt §
(1) = gis 2) Wi &
(3) #§ uRad él (4) @ ¥ gfg
/
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~ 60. | Which of the following is a determinant of demand ?

(1) Production cost (2) Consumer's income
(3) Supply ' 4) GDP
Frefifem & & @-an 7 B P 2 2
(1) SO | (2) SUHET B AX
@) o (@) R
61. | In perfect competition,n products are :
(1) Differentiated ~ = (2) Identical
{ ® Branded L - (4) Seasonal
1) faRa @
@ s @ %
62. | Under perfect compet1t10n, the firmisa: .
(1) Price maker = o ® Wage fixer
(3) ' Price taker e A Govemment agent
qof s § o AR R s
(1) 77 Frafis (@ R e
| @ @ s (4 T T

63. In the short run, a perfectly competitive firm can earn :

1 @) Only normal profit ~ (2) Loss, normal or supernormal profit

(3) Loss only | (4) Supernormal profit only
- W.ﬁ,gﬂfmﬁmﬁﬁmﬁwm%:

(1) &« 9@ @M (2) &M, AWM 1 SEER e

3) FAW @i ‘ - (4) Faq STERIY WM

UG—EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D
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64. | A price ceiling is usually set: '

(1) Below equilibrium price (2) Above equilibrium Price

(3) At equilibrium price (4) Withno market effect

SEL aﬁwé‘mmmém%

(1) €957 Foa @ 9 (2) Hqe I § FH

@) I T (@) P Bl R 99 B
65. | A price flooris: »
' (1) Maximumprice =~ - (2) Minimum legal price

(3) Equilibrium price (4) Temporary subsidy

(1) =ad Fea (2) =g q9 FHA

(3) g FW @) FEr wRadt
66. | An example of a price flooris :

(1) Rent control (2) Support price for crops

(3) Discountsale (4) - Auction pricing

ZMd Taad T 3 e g . e

(1) P FE () T 3 Rie F g

@) % = @) e &
67. | Which market form ensures the most efficient e anmﬁon?_/

g (1) Monopoly (2) Oligopoly

(3) Monopolistic f:om?etition (4) Perfect compeititon

-3 ST WA W G S e e § 7

(M) G L @ s

(3) e .

(4 T st B

UG-EE-2025 Bachelor of Arts (Ec-onom.ics) 4 Year
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68. | In perfect competition, marginal revenue is equal to :

(1) Total cost (2) Average cost
(8) Marginalcost - - (4) Price

ot g & dme o SRER 8 @

(1) T arm ' @ e arm
(3) HF @ P

69.

Price mechanism refers to :

(1) Government fixing prices

(2) Prices set by sell_ers :

(3) Determination of price by demand and supply
(4) Black market operations

F o H A 8 -

(1) @R 2 Fwd iR

@) fdael a]r #nd 7@ &

(8) @ &R gt arw P

@ amﬁ
Which of the following applies only in a competitive market ?
(1) Price discrimination ‘ -(2) Homogeneous products

1 () Single seller (4) Government monopoly
Preied & @ @-a1 da aRmqufers o & v @ @ ?
1) #vE Rdg , - (2) TTEY INR
(3) TR fagT | (4) T THITFER

G-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D
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71. Whlch of the following is not a function of money *
(1) Store of value (2) Medium of exchange

(8) Unit of measurement 4) Consumption of good?

ﬁﬂﬁf@ﬁﬁﬁ’cﬁﬁﬂtgﬂzﬁrmqﬁ%?
1) [WHAERT (Z)ﬁf:rnrqzsrmm
(3) W9 W THR L (4) TGSt w ST

72. | Which of the following is included in the money supply ?
1 (1) Gold held by RBI | it d

(2) I.Currency held by the public and demand depoents
(3) Governmentbonds

(4) Fixed deposits

P 8§ @ Si-a1 T3 O H i @ ?

1) SRS &R @ T A |

@) S &R <€ g AR AT Sy

(3) &N dlE |

(4) €l S

73. | What is the main source of money creation by commercial bahks ?
‘(1) Accepting deposits (2) Issuing currency

(3) Lending to borrowers ) Purchasing agsets

aiferfeas Sl &R T30 GO N OTer W a7
() SIS 3 () T sl ey
@ wwE @ TR B e

- UG-EE-2026 Bachelor of Arts (E _ .
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74. | A higher CRR leads to:

~ (1) Increased money creation (2) Decreased lending ability
(3) Increased inflation (4) Increased profits
Jed AT § 3Kl @ ¢ :
(1) SfUF ga gom (2) TN 27 1 g9 § A1
(3) a1 g JErim (4) % @

75. | Cash Reserve Ratio (CRR) is the :

(1) Percentage of net demand deposits banks keep with RBI
(2) Interest rate charged by banks

| (3 Loanrepayment ratio

(4) Minimum balance for savings accounts

e AT ST (AT HraRR) e ® -

(1) %ﬁ@mmamﬁrm%mmme
(2) &z R ™ AW & ,

(3) T I I HFA
(@) F=a @ & fQ AT 99

76.

The Bank Rate is the rate at which :
(1) RBI lends to Government

2) _Banks lend to RBI
(3) Public borrows from banks

1@ RBI lends to commercial banks

@S AW

(1) SRS TR B A T 8

@) &% acdiend @ A AT ¥

(3) ol daf @ SO) ol &

@) AT affas St # R ¥ 8

G-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D
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77. | Repo Rate is the rate at which : '
(1) RBI accepts depoéits from public
(2) Banksborrow fromRBI =
(3) Public borrows from banks

(4) Government sells shares

W W T8 WY B W .
(1) RS Sar & S AR A E
@) 9% AR R AW E |
(8) o ¥A § T A |
@) "R a‘m et %

78. | An increase in SLR resultsin :
(1) Higher credit creation '(2) Reduced funds for lending
3) Lower interestrates  (4) More inflation

e A FE A A |
@ mmqﬁ:{ @) F13F 3 R+ 62 |
@ FTIAMT (@) o T (i)
‘ ;79. Who is the Governor of RBI ? 4
| (1) Shaktikanta Das | | 2) Raghuram Rajan
(3) Urjit Patel (4) Sanjay Malhotra
FARAIE B T A § 7 -
(1) gl @ '(2) W e
(3) R w=a | (4) wom ‘lv‘@ﬁﬂ
UG-EE-2025 Bachelor of Arts (Ef(lgl;onucs) 4 Year-Code-D /

b




SET-X

Code-D
_ Quﬁsg.ion " Questions
80. Margin»requirement is used to control :
| (1) Inflation L (2) Credit for specific purposes
(3) Publicsavings (4 RBI profit
ST S o S B P e A A R 7
W) T (EEAR) (@) RA e d R
@) wRE s (4) ST @
81. Which- of the following is a so’urée of secondary da;ta ?
1) Direct ihterview : (2) Questionnaire |
| }(3)‘ Ceﬁsu’s repbrt - | (4.)‘ Observation
i 7 & A fedi ol A AT R 7
| @) s R (@ s
@ o RAE (@) v
- 82. Wh.ich of the following is‘ a method of primary data collection ?

(1) Government publications (2) Census

(3) . Questionnaire (4) Journals

| Pt % & s s st ) Gt A AR E 2

(1) WHQ T ‘ (2) SFETCET
(8) wgE! (4) B

Q':;'JiUG-EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D
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| (1) Collecting data from the whole population

(2) Selecting a portion of the population
(3) Interviewing all people

(4) None of the above

SR (Fpeeer) o o &

(1) T TR R SR B

(2) SrTaEn 2 @ H T F

(3) A A A

(@) o A R

Code-p

Questi A

uI(\aIsot-lon Questions ——
83. | Sampling refers to :

84.

A variable that can be measured numerically is called :
( 1) Qualitative variable |

(2) Discrete variable

(3) Quantitative variable

(4 Nominal variable o
e T N WEATE T A S FwA 2, o D
(1) TS T

(2) Fafre (o) =X

(8) HEAE =X
(4) TEE =

UG-EE-2025 Bachelor of Arts (Economig
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85.

Frequency distribution shows :

(1) Relationship between two variables

| @ Tabular representation of data

(3) Number of occurrences of each value
(4) A list of formulas

SgRT Faereer i & -

Q) [ = 9wy |

(2) SHS H ARONS TEAHRCT

(3) % AN B aRd A A e

@ @A

86.

Whlch source prov1des detailed demographic 1nformat10n ?

| @ - Nsso . (2 RBI Bulletm

(3) " Census . (4) Newspapers
Wﬂ@mmmmWMmm%?
(1) TAuEeEsH e o gafe

@) GH‘T"FIT (4) TER

- 87,

In ﬁ'équehcy distribution, class interval means :

(1) Age group ' (2) Range of data values

(3) Totaldata. H " (4) Fixed number

| e e 4, et st o &

Q) oy 7 | (2)6412@%#!?##%&#1
@) I AF - (4) fftEm wen

G'EE-2025 Bachelor of Arts (Economics) 4 Year-Code-D
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88. | Which dingram is bost for showing froquoncy distribution of continuous

data ?

(1) Bardingram (2) Lino graph

(3) Histogram (4) Pio chart

R st & amafr Raeor 3 R & Rig @@ auga Re #0-a1 8 ?

(1) SR aR@ (2) Em A

| @ ok (4) i wroft (Srer-fet)

89. | In apie diagfnm, the total angle at the center is :

(1) 90° | ' (2) 180°

3) 270° (4) 3860°

o gl (Sven-fm) § % W g A g

@ 90° 2) 180°

@) 270° | (4) 360°

90. | Which of the following is used to present time series data ?

(1) Pie chart - (2) Line graph
(3) Barchart (4) Histogram
g sfer Sttt i R W B R e ¥ Y w aqdn e o B 7
(1) o arel (Qar-fe) @) e anw
@) §x a (Rar-f) (4) iRy
. UG-EE-2026 Bachelor of Arts (E((!g(;;omlog) 4 Yoar-Codo.D -
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91. | Who is the Finance Minister of India:

(1) Manmohan Singh
(2) P.Chidambaram

(3) Dharmendra Pradhan

(4) Nirmala Sitharaman
T T S R i A B
| @ =i Rie

2 . REsm

(8) Hx WM

(4) Pl e

92.
(1) Financial bill

(2) Economlc estmate
| (4) Flscal plan

(1) P s
(2) onfiiE ST
8) o feia R
(4) e e

‘A government bu\dgetis‘ also known as:

3) Annual financial statement

mmﬁaﬂrwmmt?
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93.

The redistribution function of a budget aims to:
(1) Increase ihequality | |

(2) Promote only private wealth

3) Reduceincome ihécjua]ity

4 Increag,e government employees' iticaints only
T H GARERT  Poe sgde 37

1) @mﬁmﬁrm

| (2)_.%ﬁérﬁsﬁma?ra¢maﬁ7

(3) T ST B .
@) Faw TEY TrERE B o T

94.

Which of the following i_snof an objectivé of a government budget?
(1) Resource allocation

2) 'Income redistribution

(3) Price stability

(4) Increasingpublicdebt

| frer & @ B Tl T @ o T A

(1) e SrEed
(2) M@ P AT
(8) @Md fexar
(4) TEAE FOT TSI
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95.

The main objective of a government budget is:
(1) To promote inequality |

(2) To create inflation

(8) To achieve economic stability and growth

| @) To reduce exports

TN T B g I R Y
(1) STEHMT S FomEr 347

@ W& (ﬂwﬁﬁr)wﬁ'”

| ® S R ofC waf ST BT

(4) Fafa 77 @

96‘

(3): 50Years
'wiwwﬁaﬁmaﬁaﬂm*ﬁ

| 0hE 3zasf

Life ekﬁectancy in India at the time of independence was appi'oximately:
(1) 39 Years ~(2) 65Years |
(4) 70 Years

(@ 65qd

® 5oaur @ 70

97.

6 China

Ind.la adopted the planning model from thh country?
(2) USSR

(1) USA
4 UK

w%mﬂﬁfma“aa”""?
1) eﬁﬁasr @) S

| @ e . SEPIRR
. - nomics) 4 Year-Code-D
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98. | Which sector was the focus of the First Five Year Plan?
(1) Industry (2) Trade
(3) Agriculture (4) Services
e vaadie e ¥ few 8 @@ @ afd R ar?
(1) sam (2) &R
3 FW 4) & &
99. | The Planning Commission was replaced in 2015 by:
(1) RBI » (2) Finance Commission -
(8) NITI Aayog @ Natmnal Board of Fmance
zmsﬁmemzaﬁmmmmw« |
(1) IR | (2) ot amhw
(3) ifeT AN, o @ T@FT R Ehé
100. | A key feature of the Gree_n-Revolution was the use of:
| (1) . Manual labour
(2) Traditional seeds |
(3) High-Yielding Variety seeds
(4) Organic farming
g wifer @ uh ger faQear o
1) = @ R
(3) T IR A it 4) Sfw adh
; - - h l fA By
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